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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Study Circle Career Development Institute

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb

1) BH$mo{gpñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, nmofU MH«o$, ‘mZd d
n¶m©daUnyaH$ {dH$mg

2) n`m©daUr` Ag§VwbZ, n[afXm, BAm¶E, dZg§nÎmrMo g§YmaU, g§KQ>Zm d g§ñWm
3) O¡d{d{dYVm - ^maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr
4) O¡d{d{dYVoÀ¶m g§ajU, A^`maÊ ò Am{U amḯ>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo
5) ½bmo~b dm°{‘ªJ - h[aV dm¶y, h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m
6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, n¶m©daUr¶ AmnÎmr

2022 gmbmVrb E‘nrEggr narjmVrb n¶m©daU KQ>H$mdarb àíZg§J«h
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(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

1) BH$mo{gpñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, nmofU MH«o$, ‘mZd d n¶m©daUnyaH$ {dH$mg
2) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E, dZg§nÎmrMo g§YmaU, g§KQ>Zm d g§ñWm

3) O¡d{d{dYVm - ^maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr
4) A^`maÊ ò Am{U amï´>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo
5) ½bmo~b dm°{‘ªJ - h[aV dm¶y, h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m
6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, n¶m©daUr¶ AmnÎmr

(1) BH$mo{gpñQ>‘, ‘mZd d n¶m©daUnyaH$ {dH$mg

1) n[ag§ñWm , n[apñW{VH$s/ BH$mo{gpñQ>‘, n¶m©daU
2) D$Om© {na°{‘S>, AÞ gmIir Am{U Omio
3) nmofU /gm‘J«r MH«$
4) ‘mZd d n¶m©daUnyaH$ {dH$mg

(2) n`m©daUr` Ag§VwbZ, n[afXm, BAm¶E, dZg§nÎmrMo g§YmaU, g§KQ>Zm d g§ñWm

1) Z¡g{J©H$ gmYZg§nÎmrMo {deofV: dZg§nÎmrMo g§YmaU
2) n`m©daUr` Ag§VwbZ, BAm¶E
3) OmJ{VH$ n¶m©daU n[afXm, n¶m©daU{df¶H$ H$m¶Xo
4) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

(3) O¡d{d{dYVm - ^maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr

1) O¡d{d{dYVm g§H$ënZm d ^maVmVrb pñWVr
2) O¡d{d{dYVm - àH$ma
3) dÝ`Ord Am{U dZñnVr
4) O¡d{d{dYVm g§dY©Z

(4) O¡d{d{dYVoÀ¶m g§ajU, A^`maÊ ò Am{U amḯ>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo

1) O¡d{d{dYVoMo g§ajU d n`m©daU H$m`Xo
2) A^`maÊ ò Am{U amï´>r` CÚmZo
3) ì`mK« àH$ën
4) dZì¶dñWmnZ
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(5) ½bmo~b dm°{‘ªJ - h[aV dm¶y, h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m

1) hdm‘mZ ~Xb, dmVmdaU, ½bmo~b dm°{‘ªJ - h[aV dm¶y
2) h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m
3) hdm‘mZ ~Xbmg§X^m©V Cnm¶¶moOZm

(6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, n¶m©daUr¶ AmnÎmr

1) àXyfU - hdm
2) àXyfU - nmUr
3) àXyfU - ‘mVr
4) àXyfU - ÜdZr
5) H$Mam ì`dñWmnZ
6) n¶m©daUr¶ AmnÎmr
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n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xbmda àíZ AgUmè¶m
‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm

1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
4) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
5) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
6) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
7) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
8) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
9) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
10) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
11) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
12) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
13)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2023
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
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22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {díbofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) emídV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb

 n[apñW{VH$s, O¡d{d{dYVm d hdm‘mZ ~Xb{df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) n[apñW{VH$s (2)

1) BH$mo{gpñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, nmofU /gm‘J«r MH«$
‘mZd {dH$mg d n¶m©daU, n¶m©daUnyaH$ {dH$mg

2) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E
Z¡g{J©H$ gmYZg§nÎmrMo {deofV: dZg§nÎmrMo g§YmaU
n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

2) O¡d{d{dYVm (2)

3) O¡d{d{dYVm - ^maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr
4) A^`maÊ ò Am{U amï´>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo

3) hdm‘mZ ~Xb (2)

5) ½bmo~b dm°{‘ªJ - h[aV dm¶y, h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m

6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, {d{dY àH$maMr àXÿfUo d n¶m©daUr¶ AmnÎmr
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(1) BH$mo{gpñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, nmofU MH«o$,
‘mZd d n¶m©daUnyaH$ {dH$mg

1)  n[ag§ñWm , n[apñW{VH$s/ BH$mo{gpñQ>‘, n¶m©daU
2) D$Om© {na°{‘S>, AÞ gmIir Am{U Omio
3)  nmofU /gm‘J«r MH«$
4)  ‘mZd d n¶m©daUnyaH$ {dH$mg

1) n[ag§ñWm, n[apñW{VH$s/ BH$mo{gpñQ>‘, n¶m©daU

1) ''n[ag§ñWoMr aMZm d {VÀ¶m H$m¶m©Mm Aä¶mg åhUOo n[apñW{VH$s'' hr ì¶m»¶m 1969 ‘Ü¶o H$moUr Ho$br?
1) H«o$ãg 2) A±S´>odmWm© 3) Q>oba 4) AmoS>‘

1) "Ecology is the study of structure and function of ecosystem" who defined in 1969?

1) Kerbs 2) Andrewartha 3) Taylor 4) Odum

2) BH$m°bm°Or (Ecology) hm eãX Imbrbn¡H$s H$moUË¶m emókmÛmao emoYÊ¶mV Ambm?
1) Mmb©g² H«o$ãg 2) AZ}ñQ> hoZarM h°Ho$b
3) E. Or. Q>°Ýgbr 4) pìhŠQ>a eo’$S>©

2) Who among the following Scientists coined the term "Ecology"?

1) Charles Kerbs 2) Ernst Heinrich Haeckel

3) A. G. Tansley 4) Victor Shelford

3) 'n¶m©daU' ¶m eãXmMr ì¶m»¶m n¶m©daU g§ajU H$m¶Xm, 1986 À¶m ...... ‘Ü¶o H$aÊ¶mV Ambr Amho.
1) H$b‘ 2(b) 2) H$b‘ 2(a) 3) H$b‘ 2(c) 4) H$b‘ 2(d)

3) The term ‘Environment’ has been defined in of the Environment Protection Act, 1986,

1) Section 2(b) 2) Section 2(a) 3) Section 2(c) 4) Section 2(d)

4) n[ag§ñWm hr {ZgJm©Mm ñd¶§ {Z¶m‘H$ d ñd¶§ emœV g§aMZmË‘H$ d H$m¶m©Ë‘H$ g§M Amho. OoWo O¡{dH$ d AO¡{dH$ KQ>H$
EH$‘oH$m§‘Ü¶o Jw§Vbobo AgVmV Á¶m‘Ü¶o Imbrb {H«$¶m KS>VmV …
a) CËnmXH$Vm b) Hw$OUo c) nmofU MH«$ d) COm© àdmh
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b) Am{U (d)

4) Ecosystem is a self-regulatory and self-sustained structural and functional unit of ay nature where

biotic and abiotic components are linked together with the following processes :

a) Productivity b) Decomposition

c) Nutrient cycling d) Energy flow

Which of the statements given above is/are correct?

1) Only (a) 2) Only (a) and (b)

3) (a), (b), (c) and (d) 4) (a), (b) and (d)
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5) JmoS>çm nmÊ`mMr n[ag§ñWm Agy eH$Vo:
1) bm°{Q>H$ 2) b|{Q>H$ 3) (1) Am{U (2) XmoÝhr 4) darbn¡H$s Zmhr

5) Freshwater ecosystem may be :

1) Lotic 2) Lentic 3) (1) and (2) both 4) None of the above

6) amgm¶{ZH$ n¶m©daUmV Imbrbn¡H$s H$moUË¶m KQ>H$m§Mm g‘mdoe hmoVmo ?
a) Vmn‘mZ d ‘mVr b) Ob d ‘mVr c) dZñnVr d Ob d) ‘mZdr {H«$¶m d O¡dKQ>H$
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b)

3) ’$º$ (c) Am{U (d) 4) ¶mn¡H$s Zmhr
6) Which of the following factors are included in chemical environment? ?

a) Temperature and soil b) Water and soil

c) Vegetation and water d) Human functions and biological components

Which of the statements given above is/are correct?

1) Only (a) and (b) 2) Only (b) 3) Only (c) and (d) 4) None of the above

7) Imbrbn¡H$s àdmi am§Jm§Mr d¡{eï>o H$moUVr ?
a) hm n¥Ïdrdarb gdm©V àmMrZ gOrd g‘wh Amho.
b) ho AVr O¡dB§YZ (Biomass) CËnmXH$ AmhoV.
c) hr dZñnVr d àmUrOÝ¶ lr‘§V {d{dYVm Amho.
d) ho nmÊ¶mImbrb CîUH${Q>~§YB©¶ n[apñWVrH$sV§Ì Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (a), (b) Am{U (d) 3) ’$º$ (c) 4) darb gd©

7) Which of the following are characteristics of Coral Reefs?

a) These are the oldest living communities on Earth.

b) It is a high biomass producer.

c) Itis a rich floral and fauna diversity.

d) These are shallow water tropical ecosystems.

Which of the above statement/s is/are correct?

1) Only (a) and (b) 2) Only (a), (b) and (d) 3) Only (c) 4) All of the above

8) Imbrbn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) H¥${Ì‘ n[ag§ñWoMo CXmhaU åhUOo ‘H$m, Jhÿ, ^mV-eoVr, BË`mXr nrH$ O{‘Zr.
b) ~mJ hr Z¡g{J©H$ n[ag§ñWm Amho.
c) ŷ̂ mJmdarb (dZ, JdVmi àXoe, dmid§Q>) Am{U ObMa (H$‘i dm ‘m§gb) ho Z¡g{J©H$ n[ag§ñWm AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (a) Am{U (c)

8) Which of the following statement/s is/are true ?

a) Example of artificial ecosystem is croplands like maize, wheat, rice-fields, etc.

b) Garden is a natural ecosystem.

c) Terrestrial (forest, grasslands, deserts) and aquatic (lotic or lentic) are the naturalecosystems.

Answer Options:

1) Only (a) 2) Only (b) 3) Only (a) and (b) 4) Only (a) and (c)
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2) D$Om© {na°{‘S>, AÞ gmIir Am{U Omio

1) g|{Ð` ómoVm§nmgyZ D$Om© Am{U nXmW© XmoÝhr {‘idUmè`m OrdmUy§Zm ........ åhUVmV.
1) Am°Q>moQ´m°âg 2) hoQ>amoQ´m°âg 3) ’$moQ>moQ´m°âg 4) àmo{Q>ñQ>

1)  Bacteria that obtain both energy and material from organic sources are called........

1) Autotrophs 2) Heterotrophs 3) Phototrophs 4) Protists

2) R>amdrH$ H$mbmdYr‘Ü¶o Imbrbn¡H$s H$moUË¶m CËnmXH$VoV dZñnVr ídgZm‘Ü¶o dmnamV ¶oUmè¶m g|Ðr¶ nXmWm©nojm Ë¶m§Mr
dZñnVr D$Vr‘Ü ò OmñV à‘mUmV gmR>dU hmoVo ?
1) EHy$U àmW{‘H$ CËnmXH$Vm 2) {Zìdi àmW{‘H$ CËnmXH$Vm
3) {Zìdi g‘wXm¶mMr CËnmXH$Vm 4) Xþæ¶‘ CËnmXH$Vm

2) Which of the following productivity refers to the storage of organic matter in plant tissues ex-

ceeding the respiratory use by plants during the period of measurement ?

1) Gross primary productivity 2) Net primary productivity

3) Net community productivity 4) Secondary productivity

3) n[ag§ñWo‘Ü ò D$O}Mm àdmh ...... Amho.
1) {XemhrZ 2) {Û{XemË‘H$ 3) ~hþ{XemË‘H$ 4) MH«$s`

3) In an ecosystem, the flow of energy is ......

1) Undirectional 2) Bidirectional 3) Multidirectional 4) Cyclic

3) nmofU /gm‘J«r MH«$

1) O{‘Zrda dZñnVr dmT>rgmR>r nmUr Am{U H$m~©Z S>m¶Am°³gmB©S> ¶m§Mr CnbãYVm ho ‘hÎdmMo KQ>H$ AmhoV Va nmÊ¶m‘Ü¶o,
àH$me Am{U {‘gibobm ............... ‘hÎdmMo KQ>H$ AmhoV.
1) hm¶S´>moOZ 2) Am°pŠgOZ 3) ho{bA‘ 4) {‘WoZ

1) On land, availability of water and CO
2
 are important factors for plant growth, while in water, light

and dissolved .......... are important factors.

1) Hydrogen 2) Oxygen 3) Helium 4) Methane

2) Imbrbn¡H$s H$moUVo PmS> à{V hoŠQ>a à{V df© 50 {H$bmo Zm`Q´moOZMo `moJXmZ XoVo?
1) ~m ŷi Am°[aŠ ẁ{b’$m°{‘©g 2) H°$gwA[aZm B{¹${g{Q>’$mo{b`m
3) Ficus religiosa 4) Azadirachta indica

2) Which of the following tree contribute upto 50 kg Nitrogen per hectare per year ?

1) Acacia auriculiformis 2) Casuarina equisetifolia

3) Ficus religiosa 4) Azadirachta indica

3) O¡{dH$ Zm¶Q´>moOZ {’$³goeZ Xaå¶mZ, Zm¶{Q´>’$mBªJ {OdmUy H$moUmMo ê$nm§Va H$em‘Ü¶o H$aVmV?
1) NO

3

-

 
to NH

4

+ ‘Ü¶o 2) N
2 
to NH

4

+ ‘Ü¶o
3) NH

4

+ Mo NO
3

-

 
‘Ü¶o 4) NO
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Mo N

2 
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3) During biological nitrogen fixation, nitrifying bacteria convert ......

1) NO
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+
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4) AÞ, {Zdmam, dmhVyH$, B. ‘mZdr JaOm§Mr nyV©Vm H$aÊ¶mgmR>r bmJUmè¶m Z¡g{J©H$ joÌm§Mo ‘moO‘mnZ gmYZ åhUOo .....
1) AÞ Omir 2) O¡d dñVw‘mZ
3) emH$mhmar J«m‘rU 4) n¶m©daUr¶ nX{MÝh

4) A tool to calculate natural areas required to satisfy human needs like food, housing, transport,

etc. means

1) Food Web 2) Biomass Pyramid

3) Herbivorous animal 4) Ecological Footprint

4) ‘mZd d n¶m©daUnyaH$ {dH$mg

1) ........... hr ‘mZd{Z{‘©V AmnÎmr Amho.
1) nya 2) ŷñIbZ 3) XþîH$mi 4) Am¡Úmo{JH$ AnKmV

1) .............. is a manmade hazard.

1) Floods 2) Landslide 3) Famine 4) Industrial accident

2) H$moUË¶m àH$maMo bmoH$ gm‘m{OH$ ZmemMm gm‘Zm H$aVmV ?
1) Am{Xdmgr d ^Q>³¶m O‘mVr 2) Jar~ ór¶m
3) A{e{jV dJ© 4) J«m‘rU g§ñH¥${V

2) Which type of people face social destruction ?

1) Aboriginal and nomadic tribes 2) Poor women

3) Illiterate groups 4) Rural culture
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(2) n`m©daUr` Ag§VwbZ, n[afXm, BAm¶E, dZg§nÎmrMo g§YmaU,
g§KQ>Zm d g§ñWm

1) Z¡g{J©H$ gmYZg§nÎmrMo {deofV: dZg§nÎmrMo g§YmaU
2) n`m©daUr` Ag§VwbZ, BAm¶E
3) OmJ{VH$ n¶m©daU n[afXm, n¶m©daU{df¶H$ H$m¶Xo
4) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

1) Z¡g{J©H$ gmYZg§nÎmr d {VMo {deofV: dZg§nÎmrMo g§YmaU
1) Amnë`m Z¡g{J©H$ dmVmdaUmMm H$moUVmhr ̂ mJ Ogo H$s O‘rZ, nmUr, hdm, I{ZOo, O§Jbo, nd©Vr` àXoe, dÝ`Ord, ‘mgo

qH$dm AJXr ‘mZdr bmoH$g§»`m Á`mMm Cn`moJ ‘mUyg Ë`mÀ`m H$ë`mUmgmR>r H$ê$ eH$Vmo......... Ago ‘mZbo OmD$
eH$Vo. ......
1) ómoV 2) Z¡g{J©H$ g§gmYZ 8) g§nÎmr 4) ‘mb‘Îmm

1) Any part of our natural environment such as land, water, air, minerals, forests, rangeland, wildlife,

fish or even human population that man can utilize to promote his welfare may be regarded

as...............

1) source 2) natural resource 8) wealth 4) property

2) ........... ho ì¶dñWmnZ V§Ì Amho Á¶m‘Ü¶o nmÊ¶mMm Anì¶¶ H$‘rV H$‘r Ho$bm OmVmo qH$dm nmÊ¶mMm AË¶§V H$m¶©j‘
nÕVrZo dmna Ho$bm OmVmo.
1) ‘¥Xg§YmaU 2) Obg§YmaU 3) ~mînmoÀN>dmg 4) PmS>oPwS>no

2) ............. is the management technique which eliminates the wastage of water or maximises the

efficiency of its use.

1) Soil conservation 2) Water convention 3) Evapotranspiration 4) Vegetation

3) Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) O§Jbg§dY©Z d O§Jbm§Mm Cn¶moJ ¶m EH$‘oH$m§da Adb§~yZ {H«$¶m AmhoV.
b) XodXma Am{U {Zb{Jar d¥jm§Mr Iyn bmJdS> AmnU H$ê$ Z¶o.
c) dgmhVdmXr YmoaU O§Jbo Zï> hmoÊ¶mg H$maUr ŷV Amho.
d) ì¶mnmamer g§~§{YV ‘mJUrda AmYm[aV ~mOmanoR>r¶ AW©ì¶dñWm O§Jbmda Adb§~yZ Zmhr.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) ’$º$ (a), (b) Am{U (c) 4) ’$º$ (b), (c) Am{U (d)

3) Which of the following statements is/are true ?

a) Conservation of forests and use of forests are interdependent processes.

b) We should not cultivate more Pine and Nilgiri trees.

c) Colonial policy has caused the reduction of forests.

d) Market economy based on trade demand does not depend on forests.

Answer Options :

1) Only (a) 2) Only (b)

3) Only (a), (b) and (c) 4) Only (b), (c) and (d)
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4) nmUbmoQ> ì`dñWmnZ H$m ©̀H«$‘ gwê$ H$aÊ`mgmR>r H$moUVr ‘yb ŷV ‘m{hVr Amdûm`H$ Amho?
A) nO©Ý¶{df¶H$ AmH$S>odmar ~) bmoH$g§»`m Am{U newYZmMr AmH$S>odmar
H$) Q>mH$s, {dhra B. gmaIo CnbãY ObòmoV S>) ñWbmH¥${V
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (H$) ’$º$
3) (A), (H$) Am{U (S>) ’$º$ 4) (A), (~), (H$) Am{U (S>)

4) Which basic information is necessary to start the Watershed Management Programme ?

a) Data on rainfall b) Statistics of population and livestock

c) Existing water sources like tank, well etc. d) Topography

Answer Options :

1) (a) only 2) (a) and (c) only

3) (a), (c) and (d) only 4) (a), (b), (c) and (d)

5) Imbrbn¡H$s H$moUVo gd© nmUbmoQ> ì`dñWmnZ H$m ©̀H«$‘m§Mo C{Ôï> AmhoV?
1) nmdgmÀ`m nmÊ`mMm O{‘ZrV {eaH$md dmT>dUo
2) Obàdmhm‘wio hmoUmao ZwH$gmZ {Z §̀{ÌV H$aUo
3) Cn ẁº$ H$maUm§gmR>r Obàdmh ì`dñWm{nV H$aUo Am{U dmnaUo
4) darb gd©

5) Which of the following are the objectives of all watershed management programmes ?

1) To increase infiltration of rainwater into the soil

2) To control damage by runoff

3) To manage and utilize runoff for useful purposes

4) All of the above

6) nmUbmoQ> ì¶dñWmnZmMr C{Ôï>o H$moUVr AmhoV ?
a) àjoÌ Mmar {dH$grV/{Z‘m©U H$aUo
b) O{‘ZrMm H$m¶©j‘ dmna
c) nya {Z¶§ÌU
d) KaJwVr, H¥${f d Am¡Úmo{JH$ JaOmgmR>r nwaogm nmUr nwadR>m
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (b) Am{U (c)

3) ’$º$ (b), (c) Am{U (d) 4) ’$º$ (a), (b) Am{U (c)

6) What are the objectives of watershed management ?

a) Development of field channels

b) Efficient use of land

c) Flood control

d) Adequate water supply for domestic, agriculture and industrial needs

Answer Options :

1) Only (a) and (d) 2) Only (b) and (c)

3) Only (b), (c) and (d) 4) Only (a), (b) and (c)
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7) Imcrc {dYmZmn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV ?
a)$EH$mpË‘H$ Oc AmamIS>m V¶ma H$aUmao ‘hmamï´> ho XoemVrc n{hco amÁ¶ Amho.
b)$‘hmamï´>mVrc JmoXmdar, H¥$îUm, Vmnr, Z‘©Xm d ‘hmZXr ¶m Imoè¶m§Mm EH$mpË‘H$ Oc AmamIS>çmV g‘mdoe Amho.
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (a)$ 3) (a)$Am{U (b) 4) darcn¡H$s Zmhr.

7) Which of the following statement(s) is/are correct ?

a) Maharashtra is the first state in the country to have Integrated Water Plan.

b) The Integrated Water Plan includes Godavari, Krishna, Tapi, Narmada and Mahanadi rivers in

Maharashtra.

Which of the option(s) given above is/are incorrect ?

1) Only (b) 2) Only (a) 3) (a) and (b) 4) None of the above

8) nmdgmda AmYm[aV eoVr àUmbr‘Ü ò ................ g‘m{dï> Agmdo.
A) ‘mVrMr Yyn H$‘r H$aUo
~) ‘¥Xm g§dY©Z gwYmaUo
H$) e|Jm Am{U AmÀN>mXZ {nH$m§Mm nrH$ AmdV©ZmV g‘mdoe H$aUo
S>) g|{Ð` H$Mè`mMm dmna Q>miUo
n¶m©¶r CÎmao :
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) darb gd©

8) Rainfed Farming Systems should include ................

a) Reducing soil erosion

b) Improving soil conservation

c) Inclusion of legumes and cover crops in crop rotations

d) Avoiding use of organic wastes ,

Answer options :

1) a and b only 2) b and c only 3) a, b and c only 4) All of the above

2) n`m©daUr` Ag§VwbZ, BAm¶E

1) OmoS>çm bmdm …
Xoe/joÌ ñWbm§VarV eoVr
a) ^maV i) bS>m§J
b) ‘Ü¶ A‘o[aH$m ii) amoH$m
c) ~«m{Pb iii) {‘ënm
d) B§S>moZo{e¶m iv) Py‘
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1>) (i) (ii) (iii) (iv)

2>) (iv) (iii) (ii) (i)

3) (i) (iv) (iii) (ii)

4>) (iv) (ii) (iii) (i)
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1) Match the following :

Country/Area Shifting Agriculture

a) India ij) Ladang

b) Central America ii) Roca

c) Brazil iii) Milpa

d) Indonesia iv) Jhum

Answer options:

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (ii) (iii) (i)

2) Imbr XmoZ {dYmZo {Xbr AmhoV Ë¶mn¡H$s (A) à{VnmXZ {dYmZ AgyZ (~) ho Ë¶mMo H$maU Amho.
A) ‘hmamï´>mV ŷJ ©̂ObmMm Cngm àM§S> à‘mUmV hmoV Agë¶mZo ŷObmMo gmR>o Zï> hmoV AmhoV.
~) ‘hmamï´>mV ŷObg§dY©Z H$aUo JaOoMo Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (~) XmoÝhr ~amo~a AmhoV Am{U (~) ho (A) Iao ñnï>rH$aU Amho.
2) (A) Am{U (~) XmoÝhr ~amo~a AmhoV na§Vw (~) ho (A) Mo Iao ñnï>rH$aU Zmhr.
3) (A) ho ~amo~a Amho nU (~) ho MyH$ Amho.
4) (A) ho MyH$ Amho nU (~) ho ~amo~a Amho.

2) Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason

(B).

A) Groundwater resource has been depleted intensively in Maharashtra.

B) There is a need for groundwater conservation in Maharashtra.

Answer Options :

1) Both (A) and (B) are true and (B) is the correct explanation of (A)

2) Both (A) and (B) are true but (B) is not the correct explanation of (A)

3) (A) is true but (B) is false

4) (A) is false but (B) is true

3) ‘hmamï´>mÀ¶m eoVrg§X^m©Vrb {dYmZo nhm …
a) ‘¥XmYyn hr eoVrnwT>rb J§̂ ra g‘ñ¶m Zmhr.
b) ZXrnya, O§JbVmoS> Am{U A{Z~ªY MamB© ¶m ‘wio O{‘ZrMr Yyn hmoVo.
c) A{V[aº$ Ob qgMZm‘wio O{‘Zr jma¶wº$ hmoV AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ (b) Am{U (c) ~amo~a AmhoV. 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV. 4) {dYmZ (a), (b) Am{U (c) ~amo~a ZmhrV.

3) Observe the statements regarding agriculture in Maharashtra:

a) Soil erosion is not a serious problem of agriculture.

b) Soil erosion takes place due to flooding in rivers, forest cutting and uncontrolled grazing.

c) Soils are saline due to over-irrigation.

Answer Options:

1) Statements (b) and (c) are correct 2) Statements (a) and (b) are correct

3) Statements (a), (b) and (c) are correct 4) Statements (a), (b) and (c) are not correct
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4) ‘hmamï´>mVrb eoVr joÌmg§~§{YV H$mhr g‘ñ¶m Imbr {Xë¶m AmhoV. Ë¶mn¡H$s H$moUVr g‘ñ¶m hr gm‘m{OH$ ñdê$nmMr
Amho?
1) hdm‘mZmMr à{VHy$b n[apñWVr 2) ‘¶m©{XV H¥$fr g§emoYZ
3) Am{W©H$ ^m§S>dbmMm A^md 4) eoV O{‘ZrMo {d^mOZ

4) Following are some of the problems in the agricuture sector in Maharashtra. Which one is social

in nature ?

1) Adverse weather condition 2) Limited Agricultural research

3) Lack of financial capital 4) Fragmentation of farmland

5) ^maVm‘Ü¶o O{‘ZrMr Yyn H$moUË¶m H$maUm‘wio hmoVo?
a) d¥jVmoS> b) Hw$aUm§Mm Zme c) ^Q>H$s eoVr d) A¶mo½¶ bmJdS>
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (b), (c) Am{U (d) 4) darb gd©

5) What are the causes of soil erosion in India ?

a) Deforestation b) Destruction of grasslands

c) Shifting agriculture d) Wrong methods of cultivation

Answer options :

1) Only (a) 2) (a) and (b) 3) (b), (c) and (d) 4) All the above

6) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
a) bmoH$g§»¶oÀ¶m dmT>rgh, qgMZ joÌ dmT>V Amho Am{U H¥${f {dkmZmVrb àJVr‘wio, ~hþVoH$ {dñV¥V nrH$ nÕVr gYZ

nrH$ KoÊ¶mg ‘mJ© XoV AmhoV.
b) bmoH$g§»¶oÀ¶m dmT>rgh, qgMZ joÌ dmT>V Amho Am{U H¥${f {dkmZmVrb àJVr‘wio, ~hþVoH$ gYZ nrH$ nÕVr gYZ

nrH$ nÕVr nrH$ KoÊ¶mg ‘mJ© XoV AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) H$moUVohr ~amo~a Zmhr

6) Which of the following statements is correct ?

a) With the increase in population, the irrigated area is increasing and with advances in agricul-

tural sciences, most of the extensive cropping patterns are giving way to intensive cropping.

b) With the increase in population, the irrigated area is increasing and with advances in agricul-

tural sciences, most of the intensive cropping patterns are giving way to extensive cropping.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

7) dgmhVdmXmMo n[aUm‘ H$moUVo ?
a) O§Jbm§Mm Ho$di ~mOmanoR>ogmR>r {dMma
b) O§Jbg§nÎmr‘wio g§Kf© {Z‘m©U
c) EH$H$b‘r C{Ôï>o AgUmao dZrH$aU A§‘bmV AmUbo Jobo
d) O§JbmVrb O¡d{d{dYVm Zï>
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (d)

3) ’$º$ (a), (b) Am{U (c) 4) darb gd©
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7) What are the effects of colonialism ?

a) Forests considered only for market benefits

b) Conflicts generated due to forest wealth

c) Monoculture objectives of forestry were implemented

d) Loss of biodiversity in the forests

Answer Options :

1) Only (a) 2) Only (d)

3) Only (a), (b) and (c) 4) All of the above

8) ho KQ>H$ XoemVrb ~m¶mo‘mgÀ¶m ‘wimbm à^m{dV H$arV ZmhrV ?
1) Am¡Úmo{JH$sH$aU 2) ZmJarH$aU 3) amoI Am{W©H$Vm 4) darbn¡H$s EH$hr Zmhr

8) Which factor does not affect the country’s biomass base ?

1) Industrialization 2) Urbanization 3) Cash Economy 4) None of the above

9) ............ d ......... ho ~m¶mo‘mgMm {dZme H$aVmV.
1) Am¡Úmo{JH$sH$aU d ZmJarH$aU 2) {Zdm©h Am{W©H$Vm d gr‘m§V g§ñH¥${V
3) dmid§Q>rH$aU Am{U dZñnVr {dahrVnUm 4) Am{Xdmgr d ^Q>Ho$

9) .............. and .............. destruct the biomass.

1) Industrialization and urbanization 2) Subsistence economy and marginal culture

3) Deforestation and devegetation 4) Tribals and nomads

10) XoemVrb J«m‘rU KamVrb ~m¶mo‘mgMr ŷ{‘H$m ...........
1) ~m¶mo‘mg ‘hÎdmMr ŷ{‘H$m ~OmdVmo. 2) nmUr ho EH$ ~m¶mo‘mg Amho.
3) B§YZ ‘hÎdmMr ŷ{‘H$m ~OmdVmo 4) ~m¶mo‘mg J«m‘rU KamV ‘hÎdmMm Zmhr

10) Role of biomass of the rural households in the country is ............

1) Biomass plays a crucial role 2) Water is one of the biomass

3) Firewood plays an important role 4) Biomass is not important in rural households

11) n¶m©daU {dÜd§gm‘wio A{YH$ à^m{dV hmoUmam g‘yh H$moUVm ?
1) ZmJar ór g‘yh 2) IoS>oJmdmVrb ór g‘yh
3) IoS>çmVrb Jar~ ór g‘yh 4) ZmJar Jar~ ór nwéf

11) Which group is more affected by environmental destruction ?

1) Urban women group 2) Village women group

3) Village poor women group 4) Urban poor women group

12) nwT>rb {dYmZo ¶mo½¶ H$s A¶mo½¶?
a) eoVrÀ¶m ì¶mnmarH$aUmZo ^m§S>dbXmar eoVr à{H«$¶obm CÎmoOZ {‘imbo Zmhr.
b) eoVrÀ¶m ì¶mnmarH$aUm‘wio ^mS>oVÎdmdarb d{hdmQ> Am{U dmQ>o-{hññ¶m‘Yrb O‘rZ bmJdS>rMo à‘mU dmT>bo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ¶mo½¶ {dYmZo AmhoV.
2) (a) Am{U (b) ¶mo½¶ {dYmZo ZmhrV.
3) (a) {dYmZ MwH$sMo Am{U (b) {dYmZ ¶mo½¶ (~amo~a) Amho.
4) (a) {dYmZ ¶mo½¶ (~amo~a) Am{U (b) {dYmZ MwH$sMo Amho.
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12) Following statements are correct or incorrect ?

a) Commercialisation of agriculture did not promote capitalist -agriculture.

b) Commercialisation of agriculture intensified tenancy and share-cropping.

Answer options :

1) (a) and (b) are true statements 2) (a) and (b) are false statements

3) (a) is false and (b) is true statement 4) (a) is true and (b) is false statement

13) EImÚm MmMUr à¶moJmV H$sQ>H$m§À`m 50% bmoH$g§»¶og ‘maÊ`mgmR>r Amdí`H$ Agboë¶m H$sQ>H$ZmeH$mÀ`m à‘mUmbm
...... åhUVmV.
1) RL50 2) LD50 3) 150 4) KD50

13) The concentration of insecticide required to kill 50% test population experiment of insect is

called as ......

1) RL50 2) LD50 3) 150 4) KD50

14) XoemMo ‘yi Zgbobo VU ............ åhUyZ AmoiIbo OmVo.
1) ~§YZH$maH$ VU 4 2) Amjonmh© VU 3) CnJ«h VU 4) naXoer VU

14) Weed not native of a country is known as ..............

1) Obligate weed 4 2) Objectionable weed 3) Satellite weed 4) Alien weed

15) erW ãbmBQ> èhm¶Pmo³Q>mo{Z¶m gmobmZrZo (å`mZ ãbmBQ>) Z¡g{J©H$[aË`m ~m{YV Pmboë¶m ^mVmÀ`m PmS>m§Mm àmXŵ m©d hm,
........ Mo à‘mU OmñV Agboë¶m Cƒ CO2 pñWVrV OmñV hmoVm, na§Vw Ë`m‘wio å`mZ ãbmBQ>Mr Vrd«Vm dmT>ë¶mMo {XgV
Zmhr.
1) Zm`Q´moOZ 2) ’$m°ñ’$ag 3) nmoQ>°e 4) H°$pëe`‘

15) The incidence of rice plants naturally infected with sheath blight Rhizoctonia solani, was generally

higher at elevated CO2 under high ........... levels, but this does not increase sheath blight severity.

1) nitrogen 2) phosphorus 3) potash 4) calcium

16) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
A) S>rS>rQ>rMm àW‘ emoY AmoW‘ma PoS>baZo bmdbm
~) S>rS>rQ>rMr H$sQ>H$ZmeH$ JwUY‘© nm°b ‘wba `m§Zr {gÕ Ho$bo
n¶m©¶r CÎmao …
1) ’$º$ (A) 2) ’$º$ (~) 3) XmoÝhr (A) Am{U (~) 4) `mn¡H$s Zmhr

16) Among the following, which statement is correct ?

a) DDT was first discovered by Othmar Zeidler

b) Insecticidal property of DDT was proved by Paul Muller

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of these

17) AÞgwajm H$emda Adb§~yZ AgVo ?
a) AÞYmÝ¶mMo CËnmXZ b) n¶m©daUmMo ñW¡¶©
c) nmdgmim d) CîUH${Q>~§Yr¶ àXoemV amhUmè¶m bmoH$m§Mo Am{W©H$ H$ë¶mU
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (b) Am{U (d) 4) ’$º$ (a) Am{U (d)
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17) According to the given passage, food security depends on

a) food production b) ecological stability

c) monsoon d) economic welfare of the people living in tropical region

Answer Options :

1) Only (a) 2) Only (b) and (c) 3) Only (b) and (d) 4) Only (a) and (d)

3) OmJ{VH$ n¶m©daU n[afXm, n¶m©daU{df¶H$ H$m¶Xo
1) ‘hmamï´>mV amÁ¶ emgZmZo Zrb H«$m§Vr YmoaU Ho$ìhm Omhra Ho$bo?

1) 2017 2) 2018 3) 2019 4) 2020
1) When State Government in Maharashtra has declared the Blue Revolution Mission ?

1) 2017 2) 2018 3) 2019 4) 2020

2) Imcrcn¡H$s H$moUVm {Xdg OmJ{VH$ Oc{XZ Amho ?
1) 22 ‘mM© 2) 22 E{àc 3) 22 ‘o 4) 5 OyZ

2) Which of the following is the World Water Day ?

1) 22nd March 2) 22nd April 3) 22nd May 4) 5th June

3) Am§Vaamï´>r¶ ñVamda n¶m©daU{df¶H$ n{hbr OmJ{VH$ n[afX 5 OyZ 1972 amoOr H$moUË¶m ehamV g§nÞ Pmbr ?
1) ñQ>m°H$hmo‘ 2) Ý ỳ̀ m°H©$ 3) b§S>Z 4) ~{‘ªJh°‘

3) In which of the following city the first "International Environmental Conference" was held on 5th

June 1972 ?

1) Stockholm 2) New York 3) London 4) Birmingham

n¶m©daU{df¶H$ H$m¶Xo
1) Imbrbn¡H$s H$moUË¶m {Xder AmnÎmr ì¶dñWmnZ H$m¶Úmg ‘mÝ¶Vm {‘imbr ?

1) 26 Zmoìh|~a, 2005 2) 26 {S>g|~a, 2005
3) 26 OmZodmar, 2006 4) 26 ’o$~«wdmar, 2006

1) On which of the foltowiug days was the Disaster htanageozent Act passed ?

1) 26th November, 2005 2) 26th December, 2005

3) 26th January, 2006 4) 26th February, 2006

2) n¶m©daU g§ajU H$aÊ¶mgmR>r H$aÊ¶mV Ambobo H$m¶Xo d Ë¶m§Mo df© ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
          H$m¶Xo     df©

A) hdm à{V~§Y d àXÿfU {Z¶§ÌU I) 1974
~) dÝ¶Ord ajU II) 1980
H$) Ob à{V~§Y d àXÿfU {Z¶§ÌU III) 1981
S>) dZg§dY©Z IV) 1972
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV II III I

2) II I IV III

3) III IV I II

4) I III II IV
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2) Match the correct pairs of Act and its Year for the environmental protection.

                 Act  Year

a) Air (Prevention and Control of Pollution) I) 1974

b) Wild Life Protection II) 1980

c) Water (Prevention and Control of Pollution) III) 1981

d) Forest Conservation IV) 1972

Answer Options :

(a) (b) (c) (d)

1) IV II III I

2) II I IV III

3) III IV I II

4) I III II IV

3) ......... Ûmao àXmZ Ho$boë`m A{YH$mamZwgma {H$ZmanÅ>r Am{U gmJar joÌm§Mo g§dY©Z Am{U g§ajU H$aÊ`mÀ`m CÔoemZo
H|$Ð gaH$maZo H$moñQ>b ao½ ẁboeZ PmoZ A{YgyMZm Omar Ho$ë`m hmoË`m.
1) n`m©daU (g§ajU) H$m`Xm, 1986 2) H$moñQ>b ao½ ẁboeZ PmoZ nm°{bgr, 1986
3) H$moñQ>b ao½ ẁboeZ PmoZ E°ŠQ>, 2011 4) amï´>r` n`m©daU YmoaU, 2006

3) Coastal Regulation Zone notifications were issued by the Central Government with a view to

conserve and protect coastal stretches and marine areas as per the power conferred by the .........

1) Environment (Protection) Act, 1986 2) Coastal Regulation Zone Policy, 1986

3) Coastal Regulation Zone Act, 2011 4) National Environment Policy, 2006

4) n¶m©daU g§ajU H$m¶Xm, 1986 À¶m H$b‘ 7 Vo 17 ¶m H$m¶ÚmÀ¶m ...... ‘Ü¶o g‘m{dï> Amho Oo n¶m©daU àXÿfU,
{Z¶§ÌU Am{U H$‘r H$aÊ¶mer g§~§{YV AmhoV.
1) M°ßQ>a III 2) M°ßQ>a V 3) M°ßQ>a XI 4) M°ßQ>a X

4) Sections 7 to 17 of the Environment (Protection) Act, 1986 contained in ...... of the Act relate to

prevention, control and abatement of environmental pollution.

1) Chapter III 2) Chapter V 3) Chapter XI 4) Chapter X

5) n¶m©daU g§ajU H$m¶Xm, 1986 À¶m ...... ‘Ü¶o gaH$mar {díbofH$ åhUyZ ì¶º$s¨Mr {Z¶wº$s qH$dm ‘mÝ¶Vm, Ë¶m§Mr nmÌVm
Am{U Ahdmb ¶m g§~§YrÀ¶m VaVwXr AmhoV.
1) H$b‘ 13 2) H$b‘ 12 3) H$b‘ 15 4) H$b‘ 11

5) ...... of the Environment Protection Act, 1986 contains provisions relating to appointment or

recognition of persons as government analysts, their qualifications and report.

1) Section 13 2) Section 12 3) Section 15 4) Section 11

6) n`m©daU (g§ajU) A{Y{Z`‘, 1986 Mo H$b‘ 16 ............... er g§~§{YV Amho.
1) gØmdZoZo Ho$boë`m H$madmB©Mo g§ajU 2) gaH$mar à`moJemim
3) gaH$mar {díbofUmMm Ahdmb 4) H§$nÝ`m§Mo JwÝho

6) Section 16 of the Environment (Protection) Act, 1986 deals with ...............

1) Protection of action taken in good faith 2) Government laboratories

3) Report of government analysis 4) Offences by companies
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7) CRZ A{YgyMZm, 2019 Zwgma, ............... joÌo n`m©daUmÀ`m Ñï>rZo gdm©V OmñV hmZr nmohmoMbobr AmhoV.
1) CRZ-I 2) CRZ-1 3) CRZ-II 4) CRZ-I

7) According to CRZ Notification, 2019, ............... areas are environmentally most critical.

1) CRZ-I 2) CRZ-1 3) CRZ-II 4) CRZ-IV

8) CRZ 1991 à‘mUo A§X‘mZ Am{U {ZH$mo~ma ~oQ>o H$moUË¶m loUrV ‘moS>VmV ?
1) CRZ-I 2) CRZ-II 3) CRZ-III 4) CRZ-IV

8) In which category do Andaman and Nicobar islands fall as per CRZ 1991 ?

1) CRZ-I 2) CRZ-II 3) CRZ-III 4) CRZ-IV

4) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amḯ>/OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

1) 5 OyZ, 1972 gmbr g§¶wº$ amï´> g§KmÀ¶m gd©gmYmaU g ôV R>amd ‘§Oya H$ê$Z 5 OyZ hm {Xdg OmJ{VH$ n¶m©daU {XZ
åhUyZ gmOam H$aÊ¶mMo Imbrbn¡H$s H$moUË¶m {R>H$mUr R>abo ?
1) ñQ>m°H$hmo‘ 2) [aAmo S>r OmZo[aAmo 3) n°[ag 4) Q>mo{H$¶mo

1) At which one of the following places did the United Nations Convention on 5th June, 1972 pass

a resolution and decide to celebrate 5th June as the World Environment Day ?

1) Stockholm 2) Rio De Janeiro 3) Paris 4) Tokyo

2) ""amOrd Jm§Yr amï´>r¶ ŷOb à{ejU Am{U g§emoYZ g§ñWm'' ....... ¶m eham‘Ü¶o Am{U ............ ¶m amÁ¶m‘Ü¶o
ñWm{nV Amho.
1) ZmJnya, ‘hmamï´> 2) am¶nya, N>ÎmrgJT>
3) nQ>Zm, {~hma 4) AmJ«m, CÎma àXoe

2) ‘Rajiv Gandhi National Ground Water Training and Research Institute” is located at .............. in

the State of

1) Nagpur, Maharashtra 2) Raipur, Chhattisgarh

3) Patna, Bihar 4) Agra, Uttar Pradesh

3) amï´>r` h[aV Ý`m`m{YH$aUmZo (NGT), gßQ>|~a 2022 ‘Ü ò, ‘hmamï´> amÁ`mbm 12,000 H$moQ>r én ò ......... À¶m
A`mo½` n`m©daUr` ì`dñWmnZmMr ZwH$gmZ^anmB© åhUyZ XoÊ`mMo {ZX}e {Xbo hmoVo.
1) KZ Am{U Ðd H$Mam 2) dm ỳ àXyfU
3) {hadrJma OmJm 4) {H$Zmar ^mJ

3) The National Green Tribunal (NGT), in September 2022, directed the State of Maharashtra to pay

Rs.12,000 crores as environmental compensation for improper ‘management of .........

1) solid and liquid waste 2) air pollution

3) green spaces 4) coastal areas

4) Imbrb OmoS>çm Owidm …
A) {MnH$mo Am§XmobZ I) IV H$maImZm
~) Ho$ai emó gm{hË¶ n[afX II) d¥jVmoS>
H$) {‘Å>r ~Mmd Am§XmobZ III) Ob{dÚwV {Z{‘©Vr H|$Ð
S>) ~m°å~o ~Mmd H${‘Q>r IV) Vdm ZXr àH$ën
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n¶m©¶r CÎmao …
A ~ H$ S>

1) II III IV I

2) I IV III II

3) IV I II III

4) III II I IV

4) Match the following pairs :

a) Chipko Movement I) Fertilizer Industry

b) Kerala Shastra Sahitya Parishad II) Deforestation

c) Soil Conservation Movement III) Hydro Electricity Generating Project

d) Bombay Protecting Committee IV) Tawa River Project

Answer Options :

(a) (b) (c) (d)

1) II III IV I

2) I IV III II

3) IV I II III

4) III II I IV

5) OmoS>çm bmdm.
ñV§̂  I - n¶m©daU Midi ñV§̂  II - amÁ¶
a) gm¶b|Q> ìh°br dmMdm i) H$Zm©Q>H$
b) VmO dmMdm ‘mohr‘ ii) Ho$ai
c) {‘Å>r ~Mmd ‘mohr‘ iii) CÎma àXoe
d) H¡$Jm ‘mohr‘ iv) ‘Ü¶ àXoe
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iii) (ii)

2) (ii) (iii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (i) (iii) (ii) (iv)

5) Match the following :

Column I Environmental Movement Column II State

a) Save Silent Valley i) Karnataka

b) Save Taj Campaign ii) Kerala

c) Save Soil Campaign iii) Uttar Pradesh

d) Kaiga campaign iv) Madhya Pradesh

Answer Options :

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (ii) (iii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (i) (iii) (ii) (iv)
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(3) O¡d{d{dYVm - ̂ maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr
1) O¡d{d{dYVm g§H$ënZm d ^maVmVrb pñWVr
2) O¡d{d{dYVm - àH$ma
3) dÝ`Ord Am{U dZñnVr
4) O¡d{d{dYVm g§dY©Z

1) O¡d{d{dYVm g§H$ënZm d ^maVmVrb pñWVr
1) ............ ¶mMr Aer ì¶m»¶m H$aVm ¶oB©b H$s {Xboë¶m ‘yiñWmZm‘Ü¶o dZñnVrÀ¶m OmVr/àOmVr àmUr Am{U

gyú‘Ord ¶m§Mo ApñVËd.
1) O¡d{d{dYVm 2) n[ag§ñWm 3) AmZwd§{eH$ {d{dYVm 4) ¶mn¡H$s Zmhr

1) ............... may be defined as the sum total of species richness i.e., number of species of plants,

animals and microorganisms occurring in a given habitat.

1) Biodiversity 2) Ecosystem 3) Genetic diversity 4) None of these

2) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) O¡d{d{dYVm hm°Q>ñnm°Q>Mr g§H$ënZm B©.Amo {dëgZZo {Xbr hmoVr.
b) O¡d{d{dYVm hm°Q>ñnm°Q²g‘Ü ò dZñnVr àOmVtMo Cƒ ñWm{ZH$Ëd Amho.
c) gd© O¡d{d{dYVm hm°Q>ñnm°Q> CîUH${Q>~§Yr` àXoemV AmhoV.
n¶m©¶r CÎmao :
1) gd© (a), (b), (c) 2) ’$º$ (a) 3) ’$º$ (b) 4) ’$º$ (c)

2) Which of the following statements are correct ?

a) Concept of Biodiversity hotspots was given by E.O. Wilson.

b) Biodiversity hotspots have high endemism of plant species.

c) All Biodiversity hotspots are located in tropical region.

Answer Options :

1) All (a), (b), (c) 2) Only (a) 3) Only (b) 4) Only (c)

3) Imbrbn¡H$s H$moUVm {d^mJ ^maVmVrb O¡d{d{dYVoMm EH$ ‘hÎdmMm (hm°Q>ñnm°Q>) ‘mZbm OmVmo?
1) AadbrÀ¶m Q>oH$S>çm (nd©Vam§Jm) 2) npíM‘r KmQ>‘mWm
3) B§S>mo-J§JoMo ‘¡XmZ 4) nyd© KmQ>‘mWm

3) Which of the following area is considered a hotspot of biodiversity in India ?

1) Aravalli hills 2) Western ghats

3) Indo-Gangetic plain 4) Eastern ghats

4) Imbrbn¡H$s H$moUVo O¡d{d{dYVm ñWi Zmhr ?
1) npíM‘ KmQ> 2) nyd© {h‘mb¶ 3) A§X‘mZ {ZH$mo~ma ~oQ>o 4) nyd© KmQ>

4) Which of the following is not a biodiversity hot spots ?

1) Western Ghat 2) Eastern Himalaya

3) Andaman - Nicobar Islands 4) Eastern Ghat



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … n¶m©daU / 40

For Private Circulation Only

2) O¡d{d{dYVm - àH$ma
1) Aë’$m, {~Q>m d Jm‘m {d{dYVm (Alpha, Beta and Gamma) åhUOo H$m¶ ?

a) gOrdm§Mr lr‘§Vr b) {gångZ {d{dYVm gwMr
c) O¡d{d{dYVm ‘moOÊ¶mMo ^m¡JmobrH$ à‘mU d) ìhrQ>mH$moa (Whittaker) (1972) ¶m§Zr gwM{dbobo eãXmW©
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b)

3) ’$º$ (c) 4) ’$º$ (c) Am{U (d)

1) What is Alpha, Beta and Gamma Diversity?

a) Richness of species

b) Simpson’s Diversity Index

c) For measuring biodiversity over geographical scale

d) Whittaker (1972) suggested these terms

Which of the statements given above is/are correct?

1) Only (a) and (b) 2) Only (b) 3) Only (c) 4) Only (c) and (d)

2) .......... O¡d{d{dYVm åhUOo EH$m A{YdmgmVyZ Xwgè`m {ZdmgñWmZmV J«o{S> §̀Q>gh àOmVt‘Ü ò {H$Vr à‘mUmV ~Xb
hmoVmo `mMo ‘moO‘mn.
1) Aë’$m 2) ~rQ>m 3) J°‘m 4) WrQ>m

2) The ...... diversity is the measure of rate of extent of change in species along a gradient from one

habitat to another.

1) Alpha 2) Beta 3) Gamma 4) Theta

3) ‘mZdd§eOÝ` YmoHo$ Á`m‘wio àOmVr Zï> hmoVmV Am{U n[aUm‘r O¡d{d{dYVm Zï> hmoVo/AmhoV:
a) {ZdmgñWmZmMo ZwH$gmZ Am{U {dI§S>Z b) ‘yi Zgboë`m àOmVtMm n[aM`
c) Ìmg Am{U àXyfU d) Z¡g{J©H$ g§gmYZm§Mo A{VemofU
n¶m©¶r CÎmao :
1) (a), (b) Am{U (c) 3) (b), (c) Am{U (d) 3) (a), (b), (c) Am{U (d) 4) (c) Am{U (d)

3) Anthropogenic threats leading to extinction of species and consequent loss of biodiversity is/

are:

a) Habitat loss and fragmentation b) Introduction of non-native species

c) Disturbance and pollution d) Over exploitation of natural resources

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (b), (c) and (d) 4) (c) and (d) only

3) dÝ`Ord Am{U dZñnVr
1) ‘hmamï´> Am{W©H$ nmhUr Ahdmb 2019-20 Zwgma amÁ¶mV 2018-19 gmbr EHy$U ̂ m¡Jmo{bH$ joÌmn¡H$s {H$Vr Q> o̧$ joÌ

dZmImbr hmoVo ?
1) 20.10 2) 18.40 3) 17.90 4) 14.14

1) According to Maharashtra Economic Survey Report 2019-20 what percentage of the total

geographical area in the State was under forest in 2018-19 ?

1) .20.10 2) 18.40 3) 17.90 4) 14.13



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … n¶m©daU / 41

For Private Circulation Only

2) 2021 À`m AmH$S>odmarZwgma, ^maVmVrb dZjoÌmÀ`m VwbZoV ‘hmamï´> amÁ`mVrb dZjoÌ {H$Vr Q> o̧$ Amho?
1) 8% 2) 11% 3) 15% 4) 20%

2) As per the data of 2021, what is the percentage of forest area in Maharashtra State to that of

forest area in India ?

1) 8% 2) 11% 3) 15% 4) 20%

3) OmoS>çm Owidm …
{Oëhm     dZjoÌ

A) M§Ðnya i) ¶oS>er-am‘qbJ
~) ¶dV‘mi ii) A§Ymar
H$) Cñ‘mZm~mX iii) n¡ZJ§Jm
S>) am¶JS> iv) H$Zm©im
n¶m©¶r CÎmao …

A ~ H$ S>
1>) iii ii iv i

2>) i iii ii iv

3) ii iii i iv

4>) iv ii iii i

3) Match the following :

District Forest area

a) Chandrapur i) Yedshi-Ramling

b) Yavatmal ii) Andhari

c) Osmanabad iii) Painganga

d) Raigad iv) Karnala

Answer Options :

(a) (b) (c) (d)

1) iii ii iv i

2) i iii ii iv

3) ii iii i iv

4) iv ii iii i

4) AmÐ© nmZJirMr dZo ‘hmamï´>mV H$moR>o AmT>iVmV ?
1) A‘amdVr 2) ¶dV‘mi 3) Zm{eH$ 4) ZmJnya

4) Where are moist deciduous forests found in Maharashtra?

1) Amravati 2) Yavatmal 3) Nashik 4) Nagpur

5) ‘hmamï´>mVrb dZm§Mo àH$ma d VoWo AmT>iUmè¶m dZñnVr ¶m§À¶m ¶mo½¶ OmoS>çm bmdm ?
dZm§Mo àH$ma dZñnVr

a) CîUH${Q>~§Yr¶ gXmh[aV O§Jbo i) ZmZm
b) CîUH${Q>~§Yr¶ {Z‘ gXmh[aV dZo ii) e|Xar
c) AmÐ© nmZPS>r dZo iii) goXma
d) ewîH$ nmZPS>r dZo iv) ¶oéi
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iii) (i) (iv) (ii)

3) (ii) (iii) (i) (iv)

4) (i) (iv) (ii) (iii)

5) Match the correct pairs of forest types and vegetation in forest of Maharashtra :

    Forest type Vegetation

a) Tropical evergreen forest i) Nana

b) Tropical semi evergreen forest ii) Shendari

c) Moist deciduous forest iii) Sedar

d) Dry deciduous forest iv) Yerul

Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iii) (i) (iv) (ii)

3) (ii) (iii) (i) (iv)

4) (i) (iv) (ii) (iii)

6) 2021 ‘Ü ò KZXmQ> dZmÀN>m{XV joÌmÀ`m Ñï>rZo 'Q>m°n ’$mBìh ñQ>oQ²g' Mm JQ> {ZdS>m.
1) ‘Ü` àXoe, AéUmMb àXoe, N>ÎmrgJS>, {‘Pmoam‘, Ho$ai
2) {‘Pmoam‘, AéUmMb àXoe, ‘oKmb`, ‘{Unya, ZmJmb±S>
3) AéUmMb àXoe, ‘hmamï´>, Amo{S>em, N>ÎmrgJS>, ‘Ü` àXoe
4) ‘Ü` àXoe, N>ÎmrgJS>, AéUmMb àXoe, Amo{S>em, H$Zm©Q>H$

6) Select the group of ‘Top Five States’ in terms of dense forest cover area in 2021.

1) Madhya Pradesh, Arunachal Pradesh, Chhattisgarh, Mizoram, Kerala

2) Mizoram, Arunachal Pradesh, Meghalaya, Manipur, Nagaland

3) Arunachal Pradesh, Maharashtra, Odisha, Chhattisgarh, Madhya Pradesh

4) Madhya Pradesh, Chhattisgarh, Arunachal Pradesh, Odisha, Karnataka

7) dÝ¶àmUr OrdZmg§X^m©V Imbrb OmoS>çm Owidm.
A) Jm¡a i) ‘hmamï´>mVrb C§MrMo àXoe
~) gm§~a ii) {dX ©̂
H$) {MVi iii) Ah‘XZJa
S>) H$midrQ> iv) ‘oiKmQ>
n¶m©¶r CÎmao …
1) A-iv, ~-i, H$-ii, S>-iii 2) A-i, ~-ii, H$-iii, S>-iv

3) A-ii, ~-i, H$-iii, S>-iv 4) A-iii, ~-ii, H$-i, S>-iv

7) Match the following pairs with respect to wild animal life.

A) Gaur. i) Heights of Maharashtra

B) Sambar ii) Vidarbha

C) Chital iii) Ahmednagar

d) Antelopes iv) Melghat
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Answer Options :

1) A-iv, B-i, C-ii, D-iii 2) A-i, B-ii, C-iii, D-iv

3) A-ii, B-i, C-iii, D-iv 4) A-iii, B-ii, C-i, D-iv

8) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
 dÝ` àmUr         d¡km{ZH$ Zmd
A) qMH$mam i) Q>oQ´mgoag ¹$m{S´H$m°{Z©g
~) H$mim haU ii) J°Po{b`m ~oZoQ>r
H$) Mm¡qgJm iii) ~mogobm’$g Q́°JmoH°$‘bg
S>) ãby ~wb iii) A±{Q>bmon g{d©H$màm
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

8) Match the pairs :

Wild animals         Scientific name

a) Chinkara i) Tetracerus quadricornis

b) Black Buck ii) Gazelia bennetti

c) Chowsingha iii) Boselaphus tragocamelus

d) Blue Bull iv) Antilope cervicapra

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

9) Imbrbn¡H$s H$moUVr OmoS>r/OmoS>çm dÝ¶àmÊ¶m§Mr Zmdo Am{U d¡km{ZH$ Zmdo ¶m g§X^m©V ~amo~a Amho/AmhoV?
A) Am{e¶m¶r qgh - n±ÝWoam {bAmo nagrH$m
~) nÅ>oar dmK - n±ÝWoam Q>m¶J«rg
H$) ^maVr¶ J|S>m - am¶Zmo{ga²g ¶w{ZH$moaZrg
S>) Wm‘rZ h[aU - gad²g B©bXr
n¶m©¶r CÎmao …
1) ’$º$ ~ Am{U H$ 2) ’$º$ H$ Am{U S> 3) ’$º$ A Am{U H$ 4) darbn¡H$s gd©

9) Choose the correct pair/pairs of the animal/animals and their scientific name/names ?

a) Asiatic lion - Panthera leo persica

b) Royal Bengal Tiger - Panthera tigris

c) Indian Rhinoceros - Rhinoceros unicornis

d) Thamin Deer - Cervus eldi

Answer Options :

1) Only b and c 2) only c and d 3) Only a and c 4) All of the above
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10) OmoS>çm bmdm …
ñV§̂  - I (àOmVr)   ñV§̂  - II (àH$ma)
a) ^maVr¶ J|S>m i) {dai / ¹${MV
b) Am{e¶mVrb hÎmr ii) YmoH$mXm¶H$ Agboë¶m
c) dmid§Q>mVrb H$moëhm iii) bwá / Zï> hmoUmè¶m
d) Jwbm~r S>moHo$ Agbobo ~XH$ iv) g§doXZerb
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iv) (i) (iii)

3) (iv) (ii) (i) (iii)

4) (i) (iii) (ii) (iv)

10) Match the following :

Column - I (Species) Column - II (Type)

a) Indian Rhino i) Rare

b) Asiatic Elephant ii) Endangered

c) Desert Fox iii) Extinct

d) Pink Head Duck iv) Vulnerable

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iv) (i) (iii)

3) (iv) (ii) (i) (iii)

4) (i) (iii) (ii) (iv)

11) eVH$mZweVHo$ Z¡g{J©H$ Am{U H¥${Ì‘ {ZdS>rÛmao {dH${gV Pmboë`m Am{U eoVH$è`m§Zr bmJdS> Ho$boë`m Am{X‘ dmUm§Zm
...... Ago g§~moYbo OmVo.
1) AmYw{ZH$ eoVr 2) b±S>aog 3) O§Jbr àOmVr 4) AàM{bV dmU

11) Primitive varieties which have evolved over centuries through both natural and artificial selection

and cultivated by farmers, are referred as ......

1) Modern cultivors 2) Landraces 3) Wild species 4) Obsolete varieties

12) {d{dY ‘mJmªMm Adb§~ H$aUmè`m ........ àH$maÀ¶m dZñnVr (‘H$m, Ádmar, ~mOar, D$g) CO, Zo g‘¥Õ pñWVrg H$‘r
à{VgmX XoVmV.
1) C

1
2) C

2
3) C

3
4) C

4

12) The responses of ........ plants (maize, sorghum, millet, sugarcane) which follow different pathways

are less responsive to enriched CO, levels.

1) C
1

2) C
2

3) C
3

4) C
4
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13) Imbrb {dYmZo nhm …
A) qgH$moZm PmS>m§Mm dmna {hdVmnmdarb Am¡fY {Z{‘©VrgmR>r Ho$bm OmVmo.
~) gZ 1855 ‘Ü¶o, bm°S>© S>bhm¡grZo dZ g§dY©ZmgmR>r BÝñno³Q>a OZab Am°’$ ’$m°aoñQ>Mr {Z¶wº$s Ho$br.
H$) ^maVmVrb g§a{jV dZmV Jwao MmaÊ¶mgmR>r nadmZJr AgVo.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ A ~amo~a Amho. 2) ’$º$ {dYmZ ~ ~amo~a Amho.
3) {dYmZ A Am{U ~ ~amo~a AmhoV. 4) {dYmZ A, ~, H$ ~amo~a AmhoV.

13) Observe the following statements :

a) Cincona Plant is used to produce medicine for Malaria.

b) In 1855, Lord Dalhousie appointed Inspector General of Forests for Forest conservation.

c) Cattle grazing is permitted in protected forests of India.

Answer Options :

1) Only statement a is correct. 2) Only statement b is correct.

3) Statements a and b are correct. 4) Statements a, b, c are correct.

14) ........... ho {dMmamYrZ ZmVog§~§Ym§Mo à{V{Z{YËd åhUyZ XoIrb g§X{ ©̂V Ho$bo OmD$ eH$Vo Á`mMr {‘{‘H«$s åhUyZ ì`m»`m
Ho$br OmD$ eH$Vo.
1) ghg§~§Y 2) hdm‘mZ A§XmO
3) à{V‘mZ 4) ‘mVr-nmUr-dZñnVr g§~§Y

14) ............ can also be referred to as a representation of relationship under consideration as may be

defined as mimicry.

1) Correlation 2) Weather forecasting

3) A model 4) Soil-water-plant relationship

15) 'H$m°badmbr dmKrU', 'n|M Mr amUr', 'gwna ‘m°‘' Aem {d{dY ZmdmZo AmoiIë¶m d 11 dfmªV 29 ~N>S>çm§Zm OÝ‘ XoUmè¶m
dm{KUrMo ‘¥Ë¶y g‘¶r d¶ ...... df} hmoVo.

1) 15 2) 13 3) 27 4) 17
15) The tigress known with various names such as ‘Collarwali Baghin’, ‘Pench ki Rani’, ‘Super Mom’

who gave birth.to 29 cubs in 11 years died at the age of .........

1) 15 2) 18 3) 27 4) 17

16) Imbrbn¡H$s H$moUVo O¡{dH$ KQ>H$ {d^mJmVrb H¥${f nÕVr R>a{dÊ¶mg H$maUr ŷV AmhoV ?
a) {nH$ nÕVr (AmamIS>m) b) {nH$m§Mr ’o$anmbQ>
c) Vmn‘mZ d) àH$me-g§íbofH$ H$m¶©j‘Vm
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) ~amo~a AmhoV 2) ’$º$ (c) Am{U (d)

3) ’$º$ (a), (b) Am{U (c) 4) ’$º$ (a), (b) Am{U (d)

16) Which of the following are biological factors that determine the type of agriculture in the re-

gion?

a) Cropping pattern b) Crop rotation

c) Temperature d) Photosynthetic efficiency

Answer Options:

1) Only (a) and (b) 3) Only (a), (b) and (c)

2) Only (c) and (d) 4) Only (a), (b) and (d)
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17) ImanmU nQ²>Q>çmVrb eoVrVrb qgMZm‘wio {nH$m§À¶m CËnmXZmda n[aUm‘ hmoÊ¶mMr H$maUo åhUOo …
a) O{‘ZrÀ¶m nmoVmÀ¶m {ZH¥$ï> XOm©‘wio b) {nH$m§Mr dmT> Iw§Q>ë¶m‘wio
c) nmZm§À¶m {ndionUm‘wio d) O{‘ZrVrb jmam§À¶m g§M¶m‘wio
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (a), (b) Am{U (c) ’$º$ 4) (a) Am{U (d) ’$º$

17) Irrigation in the fields of saline tract affects the productivity of crops because of :

a) Degradation of soil structure b) Growth inhibition of plants

c) Leaf discolouration d) Salt accumulation in soil

Which of the given above statement/statements is/are correct ?

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) only 4) (a) and (d) only

4) O¡d{d{dYVm g§dY©Z

1) ^maVmV Imbrbn¡H$s H$moUVm hm°Q>-ñnm°Q> àXoe O¡d{d{dYVobm AmnÎmr {MÝh Agë¶mÀ¶m g§X^m©V YmoH$m Agbobm Amho?
1) CÎmanpíM‘ ^maV 2) X»IZMo nR>ma
3) CÎmanyd© ^maV 4) npíM‘ ^maV

1) In India, which of the following has become a hot-spot with reference to threats to biodiversity?

1) Northwestern India 2) Deccan Plateau

3) Northeastern India 4) Western India

2) 2011-20 `m XeH$mV Imbrbn¡H$s H$moUVr A§‘b~OmdUr H$aÊ`mV Ambr?
a) O¡d{d{dYVoda g§̀ wº$ amï´>m§Mm XeH$
b) AmBMr O¡d{d{dYVm bú ò
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) ’$º$ (b)

3) XmoÝhr (a) Am{U (b) 4) XmoÝhrhr (a) qH$dm (b) Zmhr
2) Which of the following were implemented during the decade 2011-20 ?

a) United Nations Decade on Biodiversity

b) Aichi Biodiversity Targets

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

3) ^maVmVrb O§Jbmer g§~§{YV OZg‘wXm¶mMm H$moUVm Ñï>rH$moZ g‘moa ¶oVmo ?
1) O§Jbg§dY©Z d O§Jb dmna 2) O§JbmVrb d¥jm§Mm A{V dmna
3) ì¶mnmar d¥ÜXrgmR>B© O§Jbo 4) Ho$di Am{XdmgtgmR>r O§Jbo

3) Which approach of a community related to forests in India, do you understand from the given

passage ?

1) Conservation and use of forests 2) Excess use of trees in the forests

3) Forests for expansion of trade 4) Forests only for tribal people
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(4) O¡d{d{dYVoÀ¶m g§ajU, A^`maÊ ò Am{U amḯ>r` CÚmZo, ì`mK«
àH$ën, n`m©daU H$m`Xo

1) O¡d{d{dYVoMo g§ajU d n`m©daU H$m`Xo
2) A^`maÊ ò Am{U amḯ>r` CÚmZo
3) ì`mK« àH$ën
4) dZì¶dñWmnZ

1) O¡d{d{dYVoMo g§ajU d n`m©daU H$m`Xo

1) O¡d{d{dYVoÀ¶m g§ajUmgmR>r "A°{nH$mo Am§XmobZ' .......... amÁ¶mV Ho$bo hmoVo.
1) ‘hmamï´> 2) ‘Ü¶ àXoe 3) H$Zm©Q>H$ 4) Ho$ai

1) The ‘Appiko Movement’ for the protection of biodiversity was carried out in State.

1) Maharashtra 2) Madhya Pradesh 3) Karnataka 4) Kerala

2) ñWbm§V[aV nú`m§À`m g§ajUmgmR>r ^maVmMm ...... Xoemer H$ama Amho.
1) MrZ 2) BamU 3) USSR 4) OnmZ

2) India has a treaty with ...... country to protect migratory birds.

1) China 2) Iran 3) USSR 4) Japan

3) amÁ` gaH$ma dÝ`Ord A^`maÊ`mÀ`m hÔrV ~Xb H$ê$ eH$Vo. na§Vw ho dÝ`Ord (g§ajU) A{Y{Z`‘, 1972 Zwgma
...... À`m {e’$magrZwgma Ho$bo OmD$ eH$Vo.
1) amÁ` dÝ`Ord ‘§S>i 2) amï´>r` dÝ`Ord ‘§S>i
3) amï´>r` ì`mK« g§ajU àm{YH$aU 4) dÝ`Ord JwÝho {Z §̀ÌU ã ẁamo

3) State government can alter the boundaries of a wildlife sanctuary. But this can be done on

recommendation of ...... according to wildlife (protection) Act, 1972.

1) State Board for Wildlife 2) National Board for Wildlife

3) National Tiger Conservation Authority 4) Wildlife Crime Control Bureau

4) amIrd OrdmdaU/Ord‘§S>b ho ................ Zygma gr‘m§{H$V H$aVmV.
1) ‘Ü¶dVu ^mJ, ~’$a PmoZ Am{U g§H«$‘U ^mJ
2) ‘Ü¶dVu ^mJ, ~’$a PmoZ Am{U gyú‘-n¶m©daUr¶ ^mJ
3) ~’$a PmoZ, g§H«$‘U ^mJ Am{U gyú‘-n¶m©daUr¶ ^mJ
4) ‘Ü¶dVu ^mJ, g§H«$‘U ^mJ Am{U gyú‘-n¶m©daUr¶ ^mJ

4) Biosphere reserves are demarcated into

1) Core zone, buffer zone and transition zone

2) Core zone, buffer zone and micro ecological zone

3) Buffer zone, transition zone and micro ecological zone

4) Core zone, transition zone and micro ecological zone
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2) A^`maÊ ò Am{U amḯ>r` CÚmZo

1) gmobmnya {OëømVrb ZmÞO A^¶maÊ¶ H$moUË¶m njm§gmR>r à{gÕ Amho ?
1) ‘moa 2) amo{hV 3) ‘miT>moH$ 4) h§gH$

1) Nannaj Sanctuary in Solapur district is famous for which bird ?

1) Peacock 2) Rohit  3) Maldhok 4) Flemingo

2) OmoS>çm Owidm …
amḯ>r¶ CÚmZo/A^¶maÊ¶      amÁ¶
a) ~m§Xrnya i) amOñWmZ
b) Ho$AmobmXod ii) Amgm‘
c) B§ÐmdVr iii) H$Zm©Q>H$
d) ‘mZg iv) N>ÎmrgJT>
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (ii) (iv) (iii) (i)

3) (iv) (iii) (i) (ii)

4) (iii) (i) (iv) (ii)

2) Match the following :

National Park/Sancturary      State

a) Bandipur i) Rajasthan

b) Keoladeo ii) Assam

c) Indravati iii) Karnataka

d) Manas iv) Chattisgarh

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (ii) (iv) (iii) (i)

3) (iv) (iii) (i) (ii)

4) (iii) (i) (iv) (ii)

3) Imbrbn¡H$s H$moUVo A^¶maÊ¶/amï´>r¶ CÚmZ ^m¡Jmo{bH$ joÌ’$imZo ‘moR>o Amho ?
1) A§Ymar 2) VmZgm 3) Mm§Xmobr 4) ZmJ{Pam

3) Which of the following Sanctuary/National Park is large in Geographical area?

1) Andahari 2) Tansa 3) Chandoli 4) Nagzira

4) OmoS>çm Owidm …
amÁ¶   A^¶maÊ¶

a) Am§Y« àXoe i) amYmZJar
b) ‘hmamï´> ii) ^JdmZ ‘hmdra
c) npíM‘ ~§Jmb iii) nw{bH$V
d) Jmodm iv) ObXmnmam
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1>) (iv) (iii) (i) (ii)

2>) (i) (ii) (iii) (iv)

3) (iii) (i) (iv) (ii)

4>) (iii) (i) (ii) (iv)

4) Match the following: .

      State  Name of Sanctuaries

a) Andhra Pradesh i) Radhbanagari

b) Maharashtra ii) Bhagwan Mahavir

c) West Bengal iii) Pulicat

d) Goa iv) Jaldapara

Answer Options:

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (i) (ii) (iii) (iv)

3) (iii) (i) (iv) (ii)

4) (iii) (i) (ii) (iv)

5) ‘mZg amï´>r` CÚmZm~Ôb Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
A) ho AéUmMb àXoemV dgbobo Amho
~) ho J|S>çm§À`m Mm§Jë`m bmoH$g§» òbm AmYma XoVo
H$) 2019 À`m gwédmVrbm H$mhr J|S>çm§Zm {VWo ñWbm§V[aV H$aÊ`mV Ambo
n¶m©¶r CÎmao :
1) gd© (A), (~), (H$) 2) ’$º$ (A) Am{U (~) 3) ’$º$ (A) Am{U (H$) 4) ’$º$ (~) Am{U (H$)

5) Which of the following statements about Manas national park is/are true ?

a) It is situated in Arunachal Pradesh

b) It supports good rhino population

c) Some rhinos were relocated there in early 2019

Answer Options :

1) All (a), (b), (c) 2) Only (a) and (b) 3) Only (a) and (c) 4) Only (b) and (c)

6) Imbrb OmoS>çm bmdm …
amḯ>r¶ CÚmZ/A^¶maÊ¶  {Oëhm
A) g§O¶ Jm§Yr CÚmZ i) am¶JS>
~) VmZgm ii) R>mUo
H$) ’$UgmS> iii) ¶dV‘mi
S>) {Q>noída iv) ‘§w~B©
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii i iv iii

2) iv ii iii i

3) ii iv i iii

4) iv ii i iii
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6) Match the following :

National Park/Sanctuary District

a) Sanjay Gandhi Park i) Raigad

b) Tansa ii) Thane

c) Phansad iii) Yavatmal

d) Tipeshwar iv) Mumbai

Answer Options :

(a) (b) (c) (d)

1) ii i iv iii

2) iv ii iii i

3) ii iv i iii

4) iv ii i iii

7) gdm©V OwZo Vo gdm©V ZdrZ Aer ‘m§S>Ur Ho$ë`mg Imbrbn¡H$s H$moUVm H«$‘ ~amo~a Amho?
1) VmS>mo~m - n|M - g§O` Jm§Yr 2) VmS>mo~m - g§O` Jm§Yr - n|M
3) g§O` Jm§Yr -VmS>mo~m - n|M 4) g§O` Jm§Yr - n|M - VmS>mo~m

7) If arranged from oldest to newest, which of the following sequences is correct ?

1) Tadoba - Pench - Sanjay Gandhi 2) Tadoba - Sanjay Gandhi - Pench

3) Sanjay Gandhi -Tadoba - Pench 4) Sanjay Gandhi - Pench - Tadoba

8) ‘hmamï´>mVrb amï´>r¶ CÚmZo d Ë¶m§À¶m {R>H$mUm§Mr ¶mo½¶ OmoS>çm Owidm.
 amï´>r¶ CÚmZo   {R>H$mU
a) ZdoJmd i) ~mo[adbr
b) JwJm‘mi ii) ZmJnya
c) n|M iii) Jm|{X`m
d) g§O¶ Jm§Yr iv) A‘amdVr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (i) (ii) (iv) (iii)

3) (iii) (iv) (ii) (i)

4) (iii) (ii) (i) (iv)

8) Match the correct pairs of National Parks & their Locations in Maharashtra :

 National Parks Locations

a) Navegaon i) Borivali

b) Gugamal ii) Nagpur

c) Pench iii) Gondiya

d) Sanjay Gandhi iv) Amaravati

Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (i) (ii) (iv) (iii)

3) (iii) (iv) (ii) (i)

4) (iii) (ii) (i) (iv)
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9) amï´>r¶ CÚmZo/A^¶maÊ¶ - g§a{jV àmUr
a) A~mohma - H$midrQ> (harU) b) ‘m¶Ur - njr
c) amYmZJar - Jdm d) n|M - Añdb
darb ~amo~a Agboë¶m/Agbobr OmoS>r/OmoS>çm gm§Jm.
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a), (b) Am{U (c) 4) darbn¡H$s gd©

9) National park/sanctuary — protected animal

a) Abohar — Deer b) Mayani — Birds

c) Radhanagari — Bison d) Pench — Bear

State the correct pair/s given above.

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (a), (b) and (c) 4) All of the above

10) OmoS>çm bmdm …
A^¶maÊ¶  {R>H$mU
a) VmZgm i) OiJmd
b) ¶mdb ii) R>mUo
c) ‘miT>moH$ iii) gmobmnya
d) ZmJ{Pam iv) Jm|{X`m
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

10) Match the pair :

Sanctuary Place

a) Tansa i) Jalgaon

b) Yawal ii) Thane

c) Maldhok iii) Solapur

d) Nagzira iv) Gondiya

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

2) ì`mK« àH$ën
1) ‘oiKmQ> ì¶mK« àH$ënmMo g§a{jV joÌ ...... amï´>r¶ CÚmZ åhUyZ Omhra H$aÊ¶mV Ambo?

1) JwJm‘mi 2) g§O¶ Jm§Yr 3) Mm§Xmobr 4) {à¶Xe©Zr B§{Xam Jm§Yr
1) Protected area of Melghat Tiger Project has been declared as a national park.

1) Gugamal 2) Sanjay Gandhi

3) Chandoli 4) Priyadarshini Indira Gandhi
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2) gømÐr ì`mK« àH$ënmV Imbrb Jmoï>tMm g‘mdoe hmoVmo.
A) amYmZJar dÝ`Ord A^`maÊ`
~) Mm§Xmobr amï´>r` CÚmZ
H$) H$mò Zm dÝ`Ord A^`maÊ`
Imbrbn¡H$s H$moUVm n`m©̀  dmŠ` `mo½`[aË`m nyU© H$aVmo?
1) gd© (A), (~), (H$) 2) ’$º$ (A) Am{U (~) 3) ’$º$ (~) Am{U (H$) 4) ’$º$ (A) Am{U (H$)

2) Sahyadri Tiger Reserve comprises of :

a) Radhanagari wildlife sanctuary

b) Chandoli National park

c) Koyna wildlife sanctuary

Which of the following options completes the sentence correctly ?

1) All (a), (b), (c) 2) Only (a) and (b) 3) Only (b) and (c) 4) Only (a) and (c)

3) dZì¶dñWmnZ

1) O§Jbmda amÁ`mMr ‘ºo$Xmar àñWm{nV H$aÊ`mMm n{hbm à`ËZ ^maVr` dZ H$m`ÚmÛmao H$aÊ`mV Ambm.
1) 1857 2) 1865 3) 1878 4) 1827

1) The first attempt for asserting state monopoly right over forest was made through an Indian Forest

Act of.

1) 1857 2) 1865 3) 1878 4) 1827

2) ‘hmamï´> dZ {dH$mg ‘hm‘§S>i ‘¶m©{XV Mr ñWmnZm ........... ‘Ü¶o Pmbr.
1) 1982 2) 1979 3) 1984 4) 1974

2) Forest Development Corporation of Maharashtra limited was established in ..................

1) 1982 2) 1979 3) 1984 4) 1974

3) JFMC/EDC Mo {H$Vr nX{gÕ gXñ` AmhoV?
1) 1 2) 2 3) 3 4) 4

3) How many ex-officio members do the JFMC/EDC have ?

1) 1 2) 2 3) 3 4) 4

4) Am§Vaamï´>r` dZrH$aU g§emoYZ H|$Ð (CIFOR) òWo Amho:
1) ~moJmoa, B§S>moZo{e`m 2) `moH$mohm‘m, OnmZ 3) Zdr {X„r, ^maV 4) amo‘, BQ>br

4) The Centre for International Forestry Research (CIFOR) is located at :

1) Bogor, Indonesia 2) Yokohama, Japan 3) New Delhi, India 4) Rome, Italy

5) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
A) BpÝñQ>Q>çyQ> Am°’$ dwS> gm`Ýg A±S> Q>oŠZm°bm°Or (IWST) i) O~bnya
~) CîUH${Q>~§Yr` dZ g§emoYZ g§ñWm (TFRI) ii) am§Mr
H$) ewîH$ dZ g§emoYZ g§ñWm (AFRI) iii) ~|Jiwê$
S>) dZ CËnmXH$Vm g§ñWm (IFP) iv) OmoYnya
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n¶m©¶r CÎmao :
(A) (~) (H$) (S>>)

1) (iii) (iv) (i) (ii)

2) (ii) (i) (iii) (iv)

3) (iii) (i) (iv) (ii)

4) (i) (iii) (ii) (iv)

5) Match the pair :

a) Institute of Wood Science and Technology (IWST) i) Jabalpur

b) Tropical Forest Research Institute (TFRI) ii) Ranchi

c) Arid Forest Research Institute (AFRI) iii) Bengaluru

d) Institute of Forest Productivity (IFP) iv) Jodhpur

Answer options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (ii) (i) (iii) (iv)

3) (iii) (i) (iv) (ii)

4) (i) (iii) (ii) (iv)

6) dÝ`Ord JwÝho {Z §̀ÌU ã ẁamoMo nX{gÕ g§MmbH$ H$moU AmhoV?
1) dÝ`Ord g§ajU g§MmbH$ 2) nmobrg ‘hm{ZarjH$
3) dZ ‘hm{ZarjH$ 4) dZ ‘hmg§MmbH$

6) Who is the Ex-officio Director of the Wildlife Crime Control Bureau ?

1) Director of Wildlife Preservation 2) Inspector General of Police

3) Inspector General of Forests 4) Director General of Forests

7) dZjoÌmMo AmaoIZ (digitalization) H$aÊ¶mgmR>r ............. KQ>H$mMm dmna H$aVmV.
1) q~Xÿ 2) aofm 3) ~hþ̂ wOmH¥$Vr 4) darb gd©

7) .................... element is used for digitalization of forest area.

1) Point 2) Line 3) Polygon (4) Above all

8) ‘w»` dÝ`Ord dm°S>©Z H$moUË`mhr ì`º$sbm Imbrbn¡H$s H$moUË`m CÔoemgmR>r A^`maÊ`mV àdoe H$aÊ`mMr nadmZJr XoD$
eH$Vmo?
A) N>m`m{MÌU ~) d¡km{ZH$ g§emoYZ H$) n ©̀Q>Z
n¶m©¶r CÎmao :
1) `mn¡H$s Zmhr 2) ’$º$ (A) Am{U (~) 3) ’$º$ (~) 4) darb gd©

8) The Chief Wildlife Warden can grant to any person a permit to enter a sanctuary for which of the

following purpose ?

a) Photography b) Scientific research c) Tourism

Answer Options :

1) None of these 2) Only (a) and (b) 3) Only (b) 4) All of these



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … n¶m©daU / 54

For Private Circulation Only

9) B§Q>aZ°eZb ẁ{Z`Z ’$m°a H$m°ÝPìh}eZ Am°’$ ZoMa (IUCN) Mo àmYmÝ` joÌ AmhoV…
A) H$m ©̀-O¡d{d{dYVm Am{U hdm‘mZ ~Xb ~) emídV D$Om©
H$) ‘mZdr H$ë`mU Am{U h[aV AW©ì`dñWm S>) ŷH$ Am{U J[a~rMm nam^d H$aUo
n¶m©¶r CÎmao :
1) (A), (~) Am{U (S>) 2) (A), (~) Am{U (H$)
3) (~), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

9) International Union for Conservation of Nature (IUCN) has the priority areas of :

a) Work-biodiversity and climate change b) Sustainable energy

c) Human well-being and green economy d) To defeat hunger and poverty

Answer Options :

1) (a), (b) and (d) 2) (a), (b) and (c)

3) (b), (c) and (d) 4) (a), (b), (c), (d)

10) H¥$fr dZrH$aU àUmbr {OWo KQ>H$ OrdZmMm H$mhr ^mJ EH$Ì amhVmV.
1) `moJm`moJ 2) ghdVu 3) ‘YyZ‘YyZ 4) àjo{nV

10) Agroforestry system where component stay together for some part of life.

1) Coincident 2) Concomitant 3) Intermittent 4) Interpolated

11) Imbrb {dYmZ {dMmamV ¿`m:
A) H¥$fr dZrH$aU àUmbr ho H¥$fr dZrH$aU bmJdS> nÕVrMo {d{eï> ñWm{ZH$ CXmhaU Amho
~) H¥$fr dZrH$aU bmJdS> nÕV hr H¥$fr dZrH$aU àUmbrMo {d{eï> ñWm{ZH$ CXmhaU Amho
`m g§X^m©V, Imbrbn¡H$s H$moUVm n`m©̀  `mo½` Amho?
1) XmoÝhr gË` 2) ’$º$ (A) gË` 3) ’$º$ (~) gË` 4) gË` Zmhr

11) Consider following statement :

a) Agroforestry system is a specific local example of an Agroforestry practice

b) Agroforestry practice is a specific local.example of an Agroforestry system

In this context, which of the following option is correct ?

1) Both true 2) Only (a) true 3) Only (b) true 4) None true

12) PmS>m§Mo H¥$fr {nH$m§da hmoUmao Imbrbn¡H$s H$moUVo n[aUm‘ H¥$fr dZrH$aUmV ‘hÎdmMo AmhoV?
A) ñnYm©
~) gyú‘ hdm‘mZ ~Xb
H$) nmofH$ gm`H$qbJ
n¶m©¶r CÎmao …
1) ’$º$ (~) 2) ’$º$ (A) Am{U (~) 3) ’$º$ (A) Am{U (H$) 4) darb gd©

12) Which of the following effects of trees on agricultural crops are important in agroforestry ?

a) Competition

b) Microclimate modification

c) Nutrient cycling

Answer Options :

1) Only (b) 2) Only (a) and (b) 3) Only (a) and (c) 4) All the above
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13) g§̀ wº$ dZ ì`dñWmnZ ...... CnH«$‘m§Zm à^mdrnUo àmoËgmhZ XoD$ eH$Vo.
1) NTEP g§H$bZ 2) Am¡fYr dZñnVtMo g§dY©Z
3) E{b`Z àOmVtMo {Z‘y©bZ 4) darb gd©

13) The joint forest management can effectively promote ...... activities.

1) NTEP collection 2) Conservation of medicinal plants

3) Eradication of Alien species 4) All the above

14) ^maVr` dZ A{Y{Z`‘, 1927 ‘Ü ò 2017 ‘Ü ò H$b‘ 2 À`m I§S> (7) ‘YyZ '~m§~y' hm eãX dJiÊ`mgmR>r gwYmaUm
H$aÊ`mV Ambr. `m XwéñVr‘wio ...... Mr ì`m»`m ~Xbbr.
1) bmHy$S> 2) PmS> 3) PwSy>n 4) nm‘

14) Indian Forest Act, 1927 was amended in 2017 to omit the word ‘bamboo’ from clause(7) of

section 2. This amendment changed the definition of ......

1) Timber 2) Tree 3) Shrub 4) Palm

15) {‘`mdmH$s O§Jb Iyn OdiÀ`m A§Vamda dZñnVtÀ`m AZoH$ àOmVr bmdyZ dmT>dbo OmVo. ho O§Jb doJmZo V`ma hmoÊ`mg
‘XV H$aUmam à‘wI g§dmX åhUOo ......
1) nañnaghH$m¶© 2) naOrdrdmX 3) ghOrdZdmX 4) ñnYm©dmX

15) Miyawaki forest is grown by planting several species of plants in very close spacing. The major

interaction that helps form this forest rapidly is ......

1) Mutualism 2) Parasitism 3) Comensalism 4) Competition
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(5) ½bmo~b dm°{‘ªJ - h[aV dm¶y, h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U
{‘WoZMr ŷ{‘H$m

1) hdm‘mZ ~Xb, dmVmdaU, ½bmo~b dm°{‘ªJ - h[aV dm¶y
2) h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ̂ y{‘H$m
3) hdm‘mZ ~Xbmg§X^m©V Cnm¶¶moOZm

1) hdm‘mZ ~Xb, dmVmdaU, ½bmo~b dm°{‘ªJ - h[aV dm¶y
1) dmVmdaUmV AmoPmoZ dm¶yMo à‘mU ............ Q> o̧$ AmT>iVmo.

1) 0.00006 2) 0.00005 3) 0.00007 4) 0.000006
1) In the atmosphere ozone gas is found in .......... percent.

1) 0.00006 2) 0.00005 3) 0.00007 4) 0.000006

2) ŠbmoamoâbyamoH$m~©Z‘Yrb àË¶oH$ ŠbmoarZÀ`m aoUy‘mJo AmoPmoZÀ`m WamVyZ AmoPmoZMo gw‘mao ............ aoUy H$mT>bo OmVmV.
1) 10,00,000 2) 1,00,000 3) 10,000 4) 1,000

2) For every one molecule of chlorine from chlorofiuorocarbon, about .......... molecules of ozone

are removed from ozone layer.

1) 10,00,000 2) 1,00,000 3) 10,000 4) 1,000

3) ^maVr¶ hdm‘mZ {d^mJmZo 2021 ‘Yrb Vmn‘mZ Am{U nmdgmÀ¶m h§Jm‘m~Ôb Ahdmb Omhra Ho$bm AgyZ, 120
dfmªÀ¶m H$mbmdYrV 2021 ho df© XoemVrb ...... gdm©{YH$ CîU df© R>abo Amho.
1) Xþgao 2) nmMdo 3) ghmdo 4) Xhmdo

3) The Indian Meteorological. Department has published a report about temperature and monsoon

in the year 2021, according to which the year 2021 was the hottest year in the last 120 years.

1) 2nd 2) 5th 3) 6th 4) 10th

4) ao{’«$Oa|Q>À`m Imbrb dJm©Mm dmna erVJ¥hmV R>odboë`m nXmWm©VyZ CîUVm emofyZ qH$dm H$mTy>Z Q>mHy$Z W§S> H$aÊ`mgmR>r
Ho$bm OmVmo.
1) dJ© 2 2) dJ© 3 3) dJ© 1 4) dJ© 4

4) Following class of refrigerant is used to cool by absorption or extraction of heat from substance

to be refrigerated

1) Class 2 2) Class 3 3) Class 1 4) Class 4

5) EH$ B§M dm¶ŵ ma åhUOo {H$Vr?
1) 3.4 {‘cr~ma 2) 4.3 {‘cr~ma 3) 34 {‘cr~ma 4) 12 {‘cr~ma

5) One inch air pressure means how much ?

1) 3.4 millibar 2) 4.3 millibar 3) 34 millibar 4) 12 millibar
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6) 670 Ajd¥Îmmda gm¡aeº$s {‘iÊ¶mMm H$mbmdYr {H$Vr AgVmo ?
1) 13 {Xdg 2) 20 {Xdg 3) 1 ‘{hZm 4) 3 ‘{hZo

6) What is the duration of solar energy received at 67° latitude ?

1) 13 days 2) 20 days 3) 1 month 4) 3 months

7) n¥ÏdrÀ¶m Xa Mm¡ag go§{Q>‘rQ>a n¥ð>^mJmda Xa {‘{ZQ>mg 1.94 H°$bar gm¡a D$Om© {‘iVo Ë¶mg H$m¶ åhUVmV?
1) gm¡a pñWanX 2) CîUVm g§VwbZ 3) ŷYdbVm 4) ¶mn¡H$s Zmhr

7) The Earth's surface receiving 1 94 calories solar energy per sq. cm. per minute is called

1) Solar Constant 2) Heat Balance 3) Albedo of the Earth 4) None of these

8) O{‘ZrnmgyZ dmVmdaUmÀ`m {eIamn ª̀V hdoÀ`m ñV§̂ mVrb AmoPmoZMr OmS>r ...... Zo ‘moObr OmVo.
1) nmñH$b ẁ{ZQ> 2) S>m°ãgZ ẁ{ZQ> 3) A±½ñQ´m°‘ ẁ{ZQ> 4) S>o{g~b ẁ{ZQ>

8) The thickness of ozone in a column of air from the ground to the top of atmosphere is measured

in term of ......

1) Pascal unit 2) Dobson unit 3) Angstrom unit 4) Decibel unit

9) namd{V©V hmoUmè`m gm¡a D$O}Mo à‘mU qH$dm òUm`m© gm¡a {H$aUmoËgJm©Mo namdV©Z JwUm§H$ ................ åhUVmV.
1) gỳ ©{H$aU 2) Aë~oS>mo 3) AndV©H$ {ZX}em§H$ 4) darbn¡H$s Zmhr

9) The proportion of incident solar energy that is reflected or the reflection coefficient for incoming

solar radiation is called ................

1) Sunrays 2) Albedo 3) Refractive index 4) None of the above

10) H$maUm§Mm {dMma Z H$aVm OmñV H$mbmdYrgmR>r {dMmamV KoVbm OmUmam ............. JwUY‘mªMm [dMma H$éZ hdm‘mZmV
hmoUmam ~Xb åhUOo hdm‘mZ ~Xb.
1) ^m¡Jmo{bH$ 2) gm§p»¶H$s¶ 3) O¡{dH$ 4) ^m¡{VH$

10) Climate change is a change in the .............. properties of the climate system when considered

over long periods of time, regardless of cause.

1) Geographical 2) Statistical 3) Biological 4) Physical

11) Imbrbn¡H$s H$moUVo ao{’«$Oa§Q> AË §̀V {dfmar Am{U ÁdbZerb Amho?
1) H$m~©Z S>m`Am°ŠgmBS> 2) gë’$a S>m`Am°ŠgmBS> 3) A‘mo{Z`m 4) R-12

11) Which of the following refrigerant is highly toxic and flammable ?

1) Carbon dioxide 2) Sulphur dioxide 3) Ammonia 4) R-12

12) dmVmdaUmÀ¶m H$moUË¶m Wam‘Ü¶o AmoPmoZ dm¶yMm Wa AmT>iVmo ?
1) Vnm§~a 2) VnñVãYr 3) pñWVm§~a 4) Am¶Zm§~a

12) In which layer of atmosphere does the ozone layer appear ?

1) Troposphere 2) Tropopause 3) Stratosphere 4) lonosphere

13) n¥ÏdrÀ¶m dmVmdaUmÀ¶m ...... ^mJmV dmVmdaUmVrb EHy$U hdoÀ¶m gw‘mao 70% ^mJ AgVmo.
1) ñQ´>oQ>mopñ’$¶a 2) ‘ogmopñ’$¶a 3) Wa‘mopñ’$¶a 4) Q´>monmopñ’$¶a

13) The part of the Earth’s atmosphere contains about 70% of the total air in the atmosphere.

1) Stratosphere 2) Mesosphere 3) Thermosphere 4) Troposphere
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14) W‘m}pñ’$`aÀ`m ImbÀ`m Wambm .................... Agohr åhUVmV.
1) Q´monmopñ’$`a 2) Am`Zmopñ’$`a 3) W‘m}pñ’$`a 4) ‘ogmopñ’$`a

14) The lower layer of thermosphere is also known as ....................

1) Troposphere 2) Ionosphere 3) Thermosphere 4) Mesosphere

15) "Ho$Zobr hodrgmB©S>' ¶m CnWamMm g‘mdoe ........... ‘Ü¶o hmoVmo.
1) Vnm§~a 2) pñWVm§~a 3) Xbm§~a 4) ~møm§~a

15) The 'Kennelly Heaviside' sublayer consists in ............ layer.

1) Troposphere 2) Stratosphere 3) lonosphere 4) Exosphere

16) .......... òUmè`m gm¡a {H$aUmoËgJm©gmR>r ‘moR>çm à‘mUmV nmaXe©H$ Amho.
1) hdm‘mZ 2) dmVmdaU 3) hdm‘mZ 4) AmH$me

16) ............ is largely transparent to incoming solar radiation.

1) Weather 2) Atmosphere 3) Climate 4) Sky

17) dmVmdaU Am{U n¥ÏdrÛmao BÝ’«$maoS> D$O}À`m emofUmbm ......... åhUVmV.
1) BÝgwboeZ 2) emofU 3) h[aVJ¥h n[aUm‘ 4) CËgO©Z

17) The absorption of infrared energy by the atmosphere and the Earth is called ..........

1) insulation 2) absorption 3) greenhouse effect 4) emission

18) AmoPmoZ WamMm j¶ ...... Am°³gmB©S>‘wio hmoVmo.
1) H$m~©Z 2) ’$m°ñ’$ag 3) ZmBQ´>moOZ 4) H$moUVm Zmhr

18) Depletion of Ozone layer is due to oxide of ......

1) Carbon 2) Phosphorus 3) Nitrogen 4) None of the above

19) AmoPmoZ ‘Ü¶o KQ> Pmë¶mZo Ordg¥ï>rda Imbrbn¡H$s H$moUVo n[aUm‘ hmoVmV?
a) ‘mUgmÀ¶m amoJ à{VH$maH$ j‘VoMo ZwH$gmZ b) dZñnVtMr dmT> Iw§Q>Uo
c) Vmn‘mZmV d¥Õr d) ‘moVrq~Xÿ hmoÊ¶mMo H$maU
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c) Am{U (d) 3) ’$º$ (b), (c) Am{U (d) 4) darb gd©

19) Which of the following are ecological impacts of ozone depletion?

a) Damage human immune system b) Stunted growth of the plants

c) rise of temperature d) Causes cataracts

Answer Options :

1) Only (a) and (b) 2) Only (c) and (d) 3) Only (b), (c) and (d) 4) All the above

20) ‘mZdd§er` hdm‘mZ ~Xbm‘wio...
1) h[aVJ¥h n[aUm‘ 2) Q>oŠQ>mo{ZH$ {H«$`mH$bmn 3) Cƒ Eamogmob 4) ‘mZdr {H«$`mH$bmn

20)  Anthropogenic climate change is due to ...

1) Greenhouse effect 2) Tectonic activity 3) Higher aerosols 4) Human activity
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21) hdm‘mZ ~XbmMm gH$mamË‘H$ n[aUm‘ Am{U bm§~boë¶m H¥$fr h§Jm‘m‘wio .......... àXoem‘Ü¶o OmñV CËnmXZmMr e³¶Vm
Agob.
1) g‘erVmoîU 2) CîUH${Q>~§Yr` 3) ewîH$ 4) Cn-AmÐ©

21) There will be positive effect of climate change on possibilities of higher yields in ............. areas

due to longer growing season.

1) temperate 2) tropical 3) arid 4) sub-humid

22) Imbrb {dYmZo nhm …
a) Am°p³gOZÀ¶m VrZ AUy§nmgyZ A°aoJm°Z dm¶y ~Zbobm AgVmo.
b) AmoPmoZMm èhmg n¥Ïdrdarb gOrdm§gmR>r Iyn YmoH$mXm¶H$ Amho.
c) dmid§Q>mMm namdV©Z {ZX}em§H$ 25 Vo 30 Q> o̧$ AgVmo.
n¶m©¶r CÎmao …
1) ’$º$ (b) {dYmZ ~amo~a Amho 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV
3) {dYmZ (b) Am{U (c) ~amo~a AmhoV 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV

22) Observe the following statements :

a) Argon gas is made up of three atoms of oxygen.

b) The degradation of ozone is very dangerous for life on the Earth.

c) The albedo of the desert is 25 to 30 percent.

Answer Options :

1) Only statement (b) is correct 2) Statements (a) and (b) are correct

3) Statements (b) and (c) are correct 4) Statements (a), (b) and (c) are correct

2) h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m
1) n¶m©daUmV h[aVJ¥h n[aUm‘ ...... dm¶yÀ¶m dmT>Ë¶m à‘mUm‘wio hmoVmo.

1) CO
2

2) CO

3) âbwAmoamoH$m~©Z (Fluorocarbons) 4) NO
2

1) Greenhouse effect is enhanced in the environment by the ...... gas.

1) CO
2

2) CO 3) Fluorocarbons 4) NO
2

2) H$moiemMo A§XmOo {díbofU ........... g§~§Yr ‘m{hVr XoVo.
1) H$m~©Z, hm`S´moOZ, Am°pŠgOZ Am{U amI `m§gmaIr {d{dY agm`Zo.
2) Amobmdm, pñWa H$m~©Z Am{U amI `m§À`m à‘mUmZwgma Q> o̧$dmar åhUyZ B§YZ KQ>H$,
3) Amobmdm, ApñWa nXmW©, pñWa H$m~©Z Am{U amI `m§À`m dOZmZwgma Q> o̧$dmar.
4) darbn¡H$s H$mhrhr Zmhr

2) The proximate analysis of coal gives ......

1) various chemicals like carbon, hydrogen, oxygen and ash.

2) fuel constituents as percentage by volume of moisture, fixed carbon and ash,

3) percentage by weight of moisture, volatile matter, fixed carbon and ash.

4) None of the above
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3) XJS>r H$moiemVrb H$m~©ZÀ¶m à‘mUmZwgma H$moUVm CVaVm H«$‘ ~amo~a Amho ?
1) {~Qw>{‘Zg - A±W«mB©Q> - {c¾mB©Q> - nrQ>
2) {~Qw>{‘Zg - {c¾mB©Q> - A±W«mgmBQ> - nrQ>
3) A±W«mgmBQ> - {~Qw>{‘Zg - {c¾mB©Q> - nrQ>
4) A±W«mgmBQ> - {c¾mB©Q> - {~Qw>{‘Zg - nrQ>

3) Which descending order is correct as per percentage of carbon in coal ?

1) Bituminous - Anthracite - Lignite - Peat

2) Bituminous - Lignite - Anthracite - Peat

3) Anthracite - Bituminous - Lignite - Peat

4) Anthracite - Lignite - Bituminous - Peat

4) ImbÀ¶m dmVmdaUmV hm¶S´>moH$m~©Z Am{U Zm¶Q´>moOZ Am°³gmBS> ¶m‘Ü¶o A{^{H«$¶m hmoD$Z Yyhma V¶ma hmoVmo. ¶mM
AÝ¶moÝ¶{H«$¶oV ...... ho Xþæ¶‘ CËnmX AgVmV.
1) ’$º$ AmoPmoZ Am{U ApëS>hmBS>
2) ’$º$ ApëS>hmBS> Am{U {H$Q>moZ
3) ’$º$ ApëS>hmBS>, {H$Q>moZ, nam°p³gA°{gb Zm¶Q´>oQ>
4) AmoPmoZ, ApëS>hmBS>, {H$Q>moZ, nam°p³gA°{gb Zm¶Q´>oQ>

4) In lower atmosphere, smog is formed by the reaction between hydrocarbon and nitrogen oxide.

This interaction produces .............. as secondary pollutants

1) only ozone and aldehydes

2) only aldehydes and ketones

3) only aldehydes, ketones, peroxyacyl nitrate

4) ozone, aldehydes, ketones, peroxyacyl nitrate

3) hdm‘mZ ~Xbmg§X^m©V Cnm¶¶moOZm
1) n{hbr OmJ{VH$ hdm‘mZ n[afX {O{Zìhm, pñdËPbªS> òWo Am`mo{OV H$aÊ`mV Ambr hmoVr:

1) 12 - 23 ’o$~«wdmar 1979 2) 14 Am°JñQ> - 4 gßQ>|~a 2009
3) 29 Am°ŠQ>mo~a - 7 Zmoìh|~a 1990 4) 1-10 OmZodmar 1982

1) The First World Climate Conference was held at Geneva, Switzerland on :

1) 12 - 23 Feb. 1979 2) 14 Aug. - 4 Sept, 2009

3) 29 Oct. - 7 Nov. 1990 4) 1-10 Jan. 1982

2) OmJ{VH$ hdm‘mZ g§KQ>Zm (WMO) Am{U g§̀ wº$ amï´> n`m©daU H$m ©̀H«$‘ (UNEP) Ûmao hdm‘mZ ~Xbmdarb Am§Va-
gaH$mar n°Zob (IPCC) Mr ñWmnZm ........... ‘Ü ò H$aÊ`mV Ambr.
1) 1988 2) 1986 3) 1987 4) 1985

2) The Intergovernmental Panel on Climate Change (IPCC) was established in ........... by World

Meteorological Organizational (WMO) and the United Nations Environment Programme (UNEP).

1) 1988 2) 1986 3) 1987 4) 1985

3) dmhVwH$sgmR>r B§YZ åhUyZ dmnaÊ¶mV ¶oUmè¶m H$m°àoñS> ~m¶moJ°g ‘Ü¶o ............. % n¶ªV {‘WoZMr loUr dmT> H$aVmV.
1) 65 2) 75 3) 50 4) 98

3) Compressed Biogas used as fuel for transportation is upgraded to ...... % purity of Methane.

1) 65 2) 75 3) 50 4) 98
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4) ‘hmamï´> Bbop³Q´>H$ dmhZ YmoaU 2021 À¶m ‘w»¶ C{Ôï>mÝd¶o gZ 2025 n¶ªV ZdrZ dmhZ Zm|XUrV ...... {hñgm ~°Q>ar,
Bbop³Q´>H$ dmhZm§Mm Agob.
1) 15 Q> o̧$ 2) 10 Q> o̧$ 3) 5 Q> o̧$ 4) 20 Q> o̧$

4) According to the main objective of the Maharashtra Electric Vehicle Policy 2021, by the year

2025 new vehicle registrations will have ... share of battery, electric vehicles.

1) 15 percent 2) 10 percent 3) 5 percent 4) 20 percent

5) Imbrbn¡H$s H$moUË`m B§YZ-dm ẁ {‘lUm‘wio hm`S´moH$m~©ZMo H$‘r CËgO©Z hmoVo?
1) Xw~io B§YZ {‘lU
2) g‘¥Õ B§YZ {‘lU
3) ñQ>mo{MAmo‘o{Q´H$ B§YZ hdoMo {‘lU
4) B§YZ hdoÀ`m {‘lUmMm hm`S´moH$m~©Ýgda H$moUVmhr n[aUm‘ hmoV Zmhr

5) Which of the following fuel-air mixture results in less hydrocarbon emission ?

1) Lean fuel mixture

2) Rich fuel mixture

3) Stoichiometric fuel air mixture

4) Fuel air mixture does not have any effect on hydrocarbons

6) IPCC Mo nyU© ê$n H$m` Amho?
1) hdm‘mZ ~Xbmdarb Am§VaemgH$s` n°Zob
2) hdm‘mZ ~Xbmdarb Am§Vaamï´>r` n°Zob
3) hdm‘mZ ~Xbmda Am§VagaH$mar àmoQ>moH$m°b
4) hdm‘mZ g§dY©Z Am§Vaamï´>r` n°Zob

6) What is the full form of IPCC ?

1) Intergovernmental Panel on Climate Change

2) International Panel on Climate Change

3) Intergovernmental Protocol on Climate Change

4) International Panel on Climate Conservation

7) ³¶wQ>mo n[afX hr ...... er g§~§YrV Amho.
1) SO

2
 À¶m CËnmXZm§da ‘¶m©Xm KmbUo.

2) AmoPmoZ j¶mÀ¶m j¶ Wm§~{dÊ¶mgmR>r n¶m©¶r nXmWmªMm {dH$mg H$aUo.
3) h[aVJ¥h dm¶y§Mo CËgO©Z H$‘r H$aUo.
4) D$O}Mm dmna H$‘r H$aUo.

7) Kyoto Conference is concerned with :

1) limiting production of SO
2

2) developing alternatives to ozone depleting substances

3) reducing emission of greenhouse gases

4) reduction in use of energy

8) ^maV gaH$ma Ûmam ñWm{nV, ............ ¶m§Zr "D$Om© Vmam§H$Z ‘mZH$' {dH${gV Ho$bo Amho.
1) Xr ã ỳamo Am°’$ EZOu E’$s{eAÝgr 2) Xr ã ỳamo Am°’$ ñQ>ma EZOu àmoOo³Q>
3) Xr ã ỳamo Am°’$ {S>pñQ´ã ỳeZ A°ÝS> OZab àmoJ«°‘ 4) Xr ã ỳamo Am°’$ H$m°‘Z àm°nQ>u [agmog© àmoOo³Q>
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8) Established by the Government of India, .................. has developed ‘Energy Star Label’.

1) The Bureau of Energy Efficiency

2) The Bureau of Star Energy Project

3) The Bureau of Distribution and General Programme

4) The Bureau of Common Property Resource Project

9) ñd¶§MbrV H$ma/MmbH$ {da{hV H$ma BV³¶mV ~mVå¶m‘Ü¶o hmoVr. Ë¶m~m~V Imbrbn¡H$s H$m¶ Iao Zmhr?
1) ¶wZm¶Q>oS> qH$JS>‘ hm H$‘r doJmZo ñd¶§MbrV dmhZm§À¶m dmnamgmR>r {Z¶‘Z Om{ha H$aUmam n{hbm Xoe R>abm Amho.
2) ñd¶§MbrV V§ÌkmZ ¶w~oa, {ZgmZ, Q>oñbm ¶m H§$nÝ¶m§Zr {dH${gV Ho$br Amho.
3) ñd¶§MbrV H$maZo g^modVmbMm ZH$mem V¶ma H$aÊ¶mgmR>r boPa, goÝga d aS>maMm Cn¶moJ Ho$bm Amho.
4) ¶wHo$Mm A§XmO Amho H$s gw‘mao 60% ¶wHo$ H$ma‘Ü¶o 2035 n¶ªV ñd¶§MbrV H$maMr j‘Vm Agob.

9) Self-Driving car/Driverless cars were recently in news, Which of the following is not true about

it ?

1) United Kingdom has become the first country to announce regulation for the use of self-

driving vehicles at low speeds.

2) Self-driving technologies have been developed by Uber, Nissan, Tesla companies.

3) Self-driving car use lasers, sensors and radars to map their surroundings.

4) UK forecasts that around 60% of UK cars will have seif-driving capabilities by 2035

10) Zdr {X„r ¶oWo OyZ 2022 ‘Ü¶o 'B§S>pñQ´>¶b {S>H$m~m}Zm¶PoeZ g‘rQ> 2022'Mo CX²KmQ>Z H$moUr Ho$bo?
1) naamï´> ‘§Ìr 2) AW©‘§Ìr
3) añVodmhVyH$ Am{U ‘hm‘mJ© ‘§Ìr 4) J¥h‘§Ìr

10) Who inaugurated the ‘Industrial Decarbonization Summit 2022’ in New Delhi in June 2022 ?

1) Minister of External Affairs 2) Finance Minister

3) Minister for Road Transport and Highways 4) Minister for Home Affairs

11) AQ>b {‘eZ ’$m°a [aOwdoZoeZ A±S> A~©Z Q´mÝg’$m°‘}eZ (AMRUT) A§VJ©V Imbrb ‘hÎdmÀ`m joÌm§da bj H|${ÐV Ho$bo
OmB©b. ¶m~m~V MwH$sMm n`m©̀  {ZdS>m :
1) nmUrnwadR>m 2) ‘b{ZñgmaU gw{dYm Am{U goßQ>oO ì`dñWmnZ
3) ñQ´m°‘-dm°Q>a SóZ 4) ‘moQ>marH¥$V dmhVyH$

11) Atal Mission for Rejuvenation and Urban Transformation (AMRUT) will focus on the following

thrust areas. Choose the incorrect option :

1) Water supply 2) Sewerage facilities and septage management

3) Storm-water drains 4) Motorized transport

12) amï´>r` ehar dmhVyH$ YmoaU, 2014 Zwgma A~©Z Q´mÝgnmoQ>© (UT) ‘moS>Mm àmYmÝ`H«$‘mMm ̀ mo½` CVaVm H«$‘ Agm Agmdm:
i) PT, añVm, aoëdo Am{U Ob‘mJ©
ii) d¡̀ {º$H$ ‘moQ>marH¥$V dmhVyH$
iii) MmbUo Am{U Zm°Z-‘moQ>amBÁS> Q´mÝgnmoQ>© (NMT)

CÎma n`m©̀  :
1) (i), (ii), (iii) 2) (iii), (i), (ii) 3) (ii), (iii), (i) 4) (iii), (ii), (i)
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12) The correct descending order of priority according to the National Urban Transport Policy, 2014,

of Urban Transport (UT) modes should be :

i) PT, Road, Rail and Waterway

ii) Personal Motorized Transport

iii) Walk and Non-Motorized Transport (NMT)

Answer options :

1) (i), (ii), (iii) 2) (iii), (i), (ii) 3) (ii), (iii), (i) 4) (iii), (ii), (i)

13) Imbrbn¡H$s H$moUVo amï´>r¶ LED H$m¶©H«$‘mMo KQ>H$ AmhoV?
A) gdmªgmR>r ‘m’$H $XamV CËnÞ Á¶moVr LED (COmbm)
~) amï´>r¶ añVo {dÚwVrH$aU H$m¶©H«$‘ (SLNP)

n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhrhr 4) A Am{U ~ XmoÝhrhr Zmhr

13) Which of the following are the components of the National LED Programme ?

a) Unnat Jyoti by Affordable LEDs for All (UJALA)

b) Street Lighting National Programme (SLNP)

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) Neither a nor b

14) 2019-20 ‘Ü¶o ^maVmÀ¶m D$Om© g§gmYZ d Ë¶mÀ¶m dmnam~m~V Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
a) ^maV hm OJmVrb {Vgam gdm©V ‘moR>m D$Om© g§gmYZ Cn^moº$m Amho.
b) ^maV OJmVrb H$ÀÀ¶m VobmMm {Vgam ‘moR>m Am¶mVXma Amho.
c) ^maV hm OJmVrb Mm¡Wm gdm©V ‘moR>m Eb.EZ.Or. Am¶mVXma Xoe Amho.
d) naXoer H$ƒo Vob d Z¡g{J©H$ dm¶y ~m~V ^maVmMo Adc§{~Ëd AZwH«$‘o 85% Vo 53% Amho.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ~amo~a AmhoV. 2) (a), (b) Am{U (c) ~amo~a AmhoV.
3) (a), (b), (c) Am{U (d) gd© {dYmZo ~amo~a AmhoV 4) Ho$di (b) ho {dYmZ ~amo~a Amho

14) Which of the following statements are true with regard to energy resources and consumption by

India in the year 2019 — 20 ?

a) India is the 3 largest consumer of energy resources in the world.

b) India is the 3 largest importer of crude oil in the world.

c) India is the 4th largest importer of LNG in the world.

d) India's dependency on imported crude oil and natural gas are 85' and 53' < respectively.

Answer Options :

1) (a) and (b) are correct 2) (a), (b) and (c) are correct

3) Statements (a), (b), (e) and (d) are correct 4) Only statement (b) is correct

15) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) C‚db ¶moOZm Zmoìh|~a 2015 ‘Ü¶o gwê$ H$aÊ¶mV Ambr.
b) {VMm ^a {dVaU H§$nÝ¶m§Mr drO Xo¶Ho$ Am{U g§H$bZmVrb H$m¶©j‘Vm ¶mda Amho.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$
3) (a) Am{U (b) XmoÝhrhr Zmhr 4) (a) Am{U (b) XmoÝhr ~amo~a AmhoV.
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15) Which of the following statements are true ?

a) Ujjwal Yojana was launched in November, 2015.

b) Its focus has been on billing and collection efficiency of DISCOMS.

Answer options :

1) (a) only 2) (b) only

3) Neither (a) nor (b) 4) Both (a) and (b) are correct

16) Imbrbn¡H$s H$moUVm D$O}Mm òmoV Anma§nm[aH$ Amho ?
1) àmÊ¶m§Mo eoU 2) H¥$fr H$Mam 3) OimD$ bmH$S>o 4) gm¡a D$Om©

16) Which of following is the non-conventional source of energy ?

1) Animal Dung 2) Agricultural Waste 3) Fuel Wood 4) Solar Energy

17) Imbrb {dYmZo nhm …
a) Z°eZb BcopŠQ´H$ ‘mo{~{cQ>r {‘eZ ¶moOZm (NEMMP) Mm CÔoe B§YZ ~MV Am{U H$~© CËgO©Z H$‘r H$aUo Amho.
b) ’$mñQ>a A°S>moßeZ A±S> ‘°Ý¶w’°$³MatJ Am°’$ (hm¶~«rS>) BcopŠQ´H$ ìhoB©H$ëg (FAME) hr H|$Ðr¶ ¶moOZm Amho.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a {dYmZ Amho. 2) (b) ’$º$ ~amo~a {dYmZ Amho.
3) (a) Am{U (b) XmoÝhr {dYmZo MyH$ AmhoV. 4) (a) Am{U (b) XmoÝhr {dYmZo ~amo~a AmhoV.

17) Consider the following Statements :

a) National Electric Mobility Mission Plan (NEMMP) aims at saving fuel and reducing carbon

emission.

b) Faster Adoption and Manufacturing of (Hybrid) Electric Vehicles (FAME) is central scheme.

Answer options :

1) only (a) Is correct statement. 2) only (b) is correct statement.

3) (a) and (b) both are incorrect statements. 4) (a) and (b) both are correct statements.
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(6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, n¶m©daUr¶
AmnÎmr

1) àXyfU - hdm
2) àXyfU - nmUr
3) àXyfU - ‘mVr
4) àXyfU - ÜdZr
5) H$Mam ì`dñWmnZ
6) n¶m©daUr¶ AmnÎmr

1) àXyfU - hdm
1) Imbrbn¡H$s H$moUVo Xwæ`‘ àXyfH$ Amho?

1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) ñ‘m°J 3) H$m~©Z S>m`Am°ŠgmBS> 4) gë’$a S>m`Am°ŠgmBS>
1) Which of the following is a secondary pollutant ?

1) Carbon monoxide 2) Smog 3) Carbon dioxide 4) Sulphur dioxide

2) eoVrVyZ hmoUmè¶m hdoÀ¶m àXÿfUmMo ‘w»¶ ñdê$n H$moUVo Amho ?
1) gë’$a S>m¶ Am°³gmBS> 2) A‘mo{Z¶m 3) {‘WoZ 4) H$m~©Z ‘moZm°ŠgmB©S>

2) What is the main form of air pollution by agriculture ?

1) Sulphur dioxide 2) Ammonia 3) Methane 4) Carbon monoxide

2) àXyfU - nmUr
1) ........... ‘Ü¶o amï´>r¶ Ob{dÚm g§ñWm ¶m ñdm¶Îm g§ñWoMr ñWmnZm H$aÊ¶mV Ambr.

1) 1969 2) 2018 3) 1978 4) 1996
1) National Institute of Hydrology (NIH) was established in ............... as an autonomous organisation.

1) 1969 2) 2018 3) 1978 4) 1996

2) ^maV gaH$maZo ......... ¶m dfu amï´>r¶ nmUr {dH$mg g§ñWoMr (NWDA) ñWmnZm Ho$br.
1) 1984 2) 1980 3) 1982 4) darbn¡H$s Zmhr

2) The Government of India established National Water Development Agency (NWDA) in the year

1) 1984 2) 1980 3) 1982 4) None of the above

3) BIS 10500 : 2012 Zwgma, {nÊ`mÀ`m nmÊ`mV ŠbmoamB©S>Mr ñdrH$m ©̀ ‘`m©Xm ......... Amho.
1) 100 mg/l 2) 250 mg/l 3) 400 mg/l 4) 500 mg/l

3) As per BIS 10500: 2012, acceptable limit for chloride in drinking water is

1) 100 mg/l 2) 250 mg/l 3) 400 mg/l 4) 500 mg/l
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4) Am¡Úmo{JH$ àXÿ{fV nmÊ¶mMm nwZdm©na åhUOoM J«rZ S>m°Q> H$m¶©H«$‘ ¶mMr gwédmV H$moUË¶m XoemV Pmbr?
1) ’«$mÝg 2) O‘©Zr 3) Am¶bªS> 4) Zm°d}

4) Green Dot Programme means recycling of industrial polluted water began in which country?

1) France 2) Germany 3) Ireland 4) Norway

5) ........ ZXr Imoao ho N>moQ>mZmJnya nR>mar àXoemV Am¡Úmo{JH$sH$aUmMo H|$ÐñWmZ AmhoV.
1) ~oa‘m Am{U gmoZma 2) H¥$îUm Am{U H$mò Zm
3) J§Jm Am{U hþ~ir 4) Xm‘moXa Am{U gw~U©aoIm

5) ........ river valley are the cradle of industrialization in Chotanagpur plateau region.

1) Bearma and Sonar 2) Krishna and Koyna

3) Ganga and Hubli 4) Damodar and Subernrekha

6) Imbrbn¡H$s H$moUVo ‘ycÐì` OnmZ ‘Yrb {‘Zm‘mQ>m ¶m amoJmgmR>r H$maUr ŷV hmoVo ?
1) Au 2) Pt 3) Ag 4) Hg

6) Which of the following element was Tesponsible for Minamata epidemic caused in Japan ?

1) Au 2) Pt 3) Ag 4) Hg

7) nmÊ¶mMr {MañWm¶r Xþî’o$ZVm Xþa H$aÊ¶mgmR>r ............ hm/ho A{^H$maH$ dmnaVmV.
1) ’$º$ YwÊ¶mMm gmoS>m 2) ’$º$ gmo{S>A‘ ho³Pm‘oQ>m’$m°ñ’o$Q>
3) (1) Am{U (2) XmoÝhr 4) darbn¡H$s H$moUVohr Zmhr

7) The chemical reagent used to remove permanent hardness of water is / are

1) only washing soda 2) only sodium hexametaphosphate

3) Both (1) and (2) 4) None of the above

8) Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV ? (ZdrZ CËnmXZ YmoaUm§VJ©V h[aV V§ÌkmZmMm Cn¶moJ H$aVmZm)
a) eyÝ¶ nmUr ~mhoa gmoS>Umè¶m ¶w{ZQ²>gbm 10% ^m§S>dbr AZwXmZ.
b) eyÝ¶ nmUr ~mhoa gmoS>Umè¶m ¶w{ZQ²>gbm 10% EH$XmM ^m§S>dbr AZwXmZ.
c) gm§S>nmUr nwZdm©na gw{dYm C^maUrgmR>r nmUr CnH$mam§da 25% gdbV.
d) gm§S>nmUr nwZdm©na ¶§ÌUm C^maë¶mg nmUr CnH$am‘Ü¶o 10% gdbV.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (c) ~amo~a AmhoV 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZo (b) Am{U (c) ~amo~a AmhoV 4) {dYmZ (d) ~amo~a Amho.

8) Which of the following statements are true ? (while practising Green technology under new

manufacturing policy.)

a) A 10% capital subsidy for units practising zero water discharge.

b) A 10% one-time capital subsidy for units practising zero water discharge.

c) A 25% rebate on water cess for setting up waste water recycling facilities.

d) A 10% rebate on water cess for setting up waste water recycling facilities.

Answer Options :

1) Statements (a) and (c) are correct 2) Statement (b) is correct

3) Statements (b) and (c) are correct 4) Statement (d) is correct
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9) hm`nmoŠbmoag A°{gS> Am{U hm`nmoŠbmoamBQ> Am`Z åhUyZ nmÊ`mV Agboë`m ŠbmoarZMr ì`m»`m ..... Aer Ho$br OmVo.
1) ‘wº$ ñdénmV CnbãY ŠbmoarZ 2) EH${ÌV CnbãY ŠbmoarZ
3) ŠbmoarZ ‘mJUr 4) Šbmoam‘mB©Ýg

9) Chlorine existing in water as hypochlorous acid and hypochlorite ions is defined as .........

1) Free available chlorine 2) Combined available chlorine

3) Chlorine demand 4) Chloramines

10) Obr` dmVmdaUmda bmoh nm`amBQ²g (FeS) ho agm¶Z {dZmeH$mar à^md Q>mHVo H$maU Ë`mÀ¶m Am°pŠgS>oeZ‘wio ........
Mr {Z{‘©Vr hmoVo.
1) gëâ ỳ[aH$ A°{gS> 2) hm`S´moŠbmo[aH$ A°{gS>
3) Zm`{Q´H$ A°{gS> 4) darbn¡H$s Zmhr

10) Iron pyrites (FeS) can have devastating impact on the aquatic environment because their oxidation

releases ......

1) Sulphuric acid 2) Hydrochloric acid

3) Nitric acid 4) None of the above

3) àXyfU - ‘mVr
1) OmoS>çm bmdm.

g§km                        g§~§Y
a) noQ´>mobm°Or i) ‘¥XoMr CËnÎmr, gd}jU d dJuH$aU
b) BS>°’$mobm°Or ii) n¥ÏdrÀ¶m n¥ð>^mJmdarb Z¡g{J©H$ AmdaU (Wa) Á¶mV dZñnVrMr dmT> hmoVo
c) noS>m°bm°Or iii) IS>H$mMo {dkmZ
d) ‘¥Xm iv) Cƒ dZñnVrÀ¶m Ñ{ï>H$moZmVyZ ‘¥Xm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (i) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)

1) Match the following :

Term                          Relation

a) Petrology i) Genesis, survey and classification of soil

b) Edaphology ii) Natural body on the Earth's surface in which the plant grows

c) Pedology iii) Science of rocks

d) Soil iv) Soils from standpoint of higher plants

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (i) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)
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2) Imbrbn¡H$s H$moUVr O‘rZ ^aÊ`mMr nÕV Zmhr?
1) joÌ nÕV 2) I§XH$ nÕV 3) ~§Jbmoa nÕV 4) a°ån nÕV

2) Which of the following is not the land filling method ?

1) Area method 2) Trench method

3) Bangalore method 4) Ramp method

3) Imbrbn¡H$s H$moUVo nXmW© ‘mVrMo KQ>H$ AmhoV ?
a) XJS> JmoQ>o d dmiy b) ~marH$ ‘mVr d Hw$Obobo nXmW©
c) amgm¶{ZH$ nXmW© d) a§JÐì¶o
n¶m©¶r CÎmao …
1) ’$º$ (c) Am{U (d) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b), (c) Am{U (d) n¡H$s Zmhr
3) Which of the following substances are components of soil?

a) Stones and sand b) Fine soil and decomposed matter

c) Chemical substances d) Colour substances (Dyes)

Answer Options :

1) Only (c) and (d) 2) Only (a) and (b)

3) (a), (b), (c) and (d) 4) None of (a), (b), (c) and (d)

4) OmoS>çm bmdm …
‘¥Xm {j{VO nXZm‘                  g§{já dU©Z
a) Oe i) ‘emJV qH$dm BVa CbWmnmbW
b) Bz ii) {Oßg‘Mm g§M¶
c) Cy iii) {Oßg‘nojm OmñV {dÐmì¶ jmam§Mm g§M¶
d) Ap iv) {dKQ>rV g|Ðr¶ nXmW©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)

4) Match the following :

Soil horizon designation                Brief description

a) Oe i) Village or other disturbances

b) Bz ii) Accumulation of gypsum

c) Cy iii) Accumulation of salts more soluble than gypsum

d) Ap iv) Decomposed organic matter

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)
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4) àXyfU - ÜdZr
1) T.V. ñQw>{S>AmogmR>r KamVrb AmdmOmMr ñdrH$m ©̀ nmVir {H$Vr Amho?

1) 5-10dB 2) 25-30dB 3) 50-55 dB 4) 1-45dB

1) How much is the acceptable indoor source noise level for the T.V. studio ?

1) 5-10dB 2) 25-30dB 3) 50-55 dB 4) 1-45dB

5) H$Mam ì`dñWmnZ
1) KmVH$ H$Mè¶mMr hmbMmb {dH${gV Xoem‘YyZ H$‘r {dH${gV Xoem‘Ü¶o hmoD$ Z¶o åhUyZ ~ogob A{YdoeZmV ...... ‘Ü¶o

...... ¶oWo Am§Vaamï´>r¶ H$amamda gøm Ho$ë¶m.
1) ‘mM© 1999 - O‘©Zr 2) E{àb 1980 - OnmZ
3) ‘o 1979 - Zm°d} 4) ‘mM© 1989 - pñdËPbªS>

1) Basel convention an international treaty designed to reduce ovement of hazardous waste from

developed to less developed countries signed in ...... at ......

1) March 1999 - Germany 2) April 1980 - Japan

3) May 1979 - Norway 4) March 1989 - Switzerland

2) ......... hr EH$ CnMma à{H«$`m Amho Or KmVH$ nXmWmªMo H$‘r {dfmar qH$dm J¡a-{dfmar nXmWmª‘Ü ò {dKQ>Z H$aÊ`mgmR>r
gyú‘ Ord dmnaVo.
1) Zm`{Q´{’$Ho$eZ 2) bdUrH$aU 3) ~m`mo[a‘o{S>EeZ 4) darb gd©

2) ...... is a treatment process that uses micro-organism to degrade hazardous substances into less

toxic or non-toxic substances.

1) Nitrification 2) Salinization 3) Bioremediation 4) All of the above

3) "hPmS>© A°Z°{b{gg {H«${Q>H$b H§$Q´mob nm°B§Q> (HACCP)' VÎdo dmnaÊ`mÀ`m ’$m`Úm§‘Ü ò ...... g‘m{dï> AgUo Amdûm`H$
Amho.
1) CËnmXZmÀ`m VmoQ>çmV KQ> 2) CËnmXZmMr JwUdÎmm dmT>br
3) CËnmXZ `mXrMo Mm§Jbo {Z §̀ÌU 4) darb gd©

3) ‘The advantages of using Hazard Analysis Critical Control Point (HACCP)' principles must

include......

1) reduction in product loss 2) increased product quality

3) better control of product inventory 4) All of the above

6) n¶m©daUr¶ AmnÎmr
1) JwOamV amÁ¶mVrb ŷO ¶oWrb ŷH§$n H$moUË¶m {Xder gH$mir Pmbm ?

1) 26 OmZodmar, 2001 2) 15 Am°JñQ>, 2001
3) 25 Zmoìh|~a, 2001 4) 25 Owb¡, 2001

1) When did the Bhuj earthquake of Gujarat State occur in the morning ?

1) 26th January, 2001 2) 15th August, 2001

3) 25th November, 2001 4) 25th July, 2001
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2) ’$¶mZ MH«$sdmXi ‘hmamï´>mÀ¶m g‘wÐ {H$Zmè¶mda ............... Xaå¶mZ AmT>iVo.
1) 11 Zmoìh|~a, 2009 2) 12 {S>g|~a, 2007
3) 01 Zmoìh|~a, 2006 4) darbn¡H$s Zmhr

2) Phyan cyclonic storm hit the coast of Maharashtra during

1) 11 November, 2009 2) 12 December, 2007

3) 01 November, 2006 4) None of the above

3) OmoS>çm Owidm …
 MH«$sdmXi     df©
a) {ZgJ© i) 2021
b) Vm¡³Vo ii) 2020
c) ’¡$¶mZ iii) 2009
d) ³¶ma iv) 2019
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (iv) (i)

3) (ii) (i) (iii) (iv)

4) (ii) (iii) (iv) (i)

3) Match the following :

  Cyclone   Year

a) Nisarga i) 2027

b) Tauktae ii) 2020

c) Phyan iii) 2009

d) Kyarr iv) 2019

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (iv) (i)

3) (ii) (i) (iii) (iv)

4) (ii) (iii) (iv) (i)

4) {H$„mar ŷH§$nmMm H|$Ðq~Xÿ H$moUVm hmoVm ?
1) ‘m§Oam ZXr 2) KZu ZXr 3) VoaUm ZXr 4) b|S>r ZXr

4) Which was the epicenter of Killari earthquake ?

1) Manjara river 2) Ghamt river 3) Terna river 4) Lendi river

5) Imbrbn¡H$s H$moUVm àXoe ^maVmVrb Cƒ ŷH§$n Vrd«Vm {d^mJ Xe©{dVmo?
1) {ÛnH$ënr¶ {d^mJ 2) H$mpí‘a Vo Amgm‘n¶ªVMm {h‘mb¶rZ {d^mJ
3) ‘Ü¶ {d^mJ 4) J§JoMo ‘¡XmZ

5) Which one of the following regions indicates the example of high intensity zone of earthquake in

India?

1) The Zone of Peninsula 2) Himalayan Belt from Kashmir to Assam

3) Central Zone 4) Ganga Plain
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6) H$mogr ZXrÀ¶m nmÌ ~Xbm‘wio Imbrbn¡H$s H$moUË¶m amÁ¶mVrb gdm©{YH$ {Oëøm§Zm Zoh‘r nwamMm VS>mIm ~gVmo ?
1) PmaI§S> 2) {~hma Am{U CÎma àXoe
3) {~hma 4) CÎma àXoe

6) Majority districts of which state are affected by the floods due to change in the course of river

Kosi ?

1) Jharkhand 2) Bihar and Uttar Pradesh

3) Bihar 4) Uttar Pradesh

7) H$moUVo MH«$sdmXi 17-05-2021 Xaå¶mZ ‘hmamï´>mÀ¶m {H$ZmanÅ>rda n[aUm‘ H$éZ Joco ?
1) {ZgJ© 2) Jwcm~ 3) Vm¡ºo$ 4) darcn¡H$s Zmhr

7) Which cyclonic storm affected the coast of Maharashtra during 17-05-2021 ?

1) Nisarg 2) Gulab 3) Tauktae 4) None of the above

8) 16-5-2018 Vo 21-5-2018 Xaå¶mZ H$moUVo MH«$sdmXi Aa~r g‘wÐmda V¶ma Pmbo hmoVo?
1) DAYE 2) SAGAR 3) LUBAN 4) GAJA

8) Which cyclonic storm was formed between 16-5-2018 to 21-5-2018 over Arabian Sea ?

1) DAYE 2) SAGAR 3) LUBAN 4) GAJA

9) Imbrb {dYmZo nhm …
a) gmJa MH«$sdmXi ‘o 2019 ‘Ü¶o Aa~r g‘wÐmV V¶ma Pmbo.
b) gmJa MH«$sdmXimZo X{jU H$moH$U {H$Zmè¶mda ‘mb‘ÎmoMo ZwH$gmZ Ho$bo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho. 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZo (a) Am{U (b) ~amo~a ZmhrV.

9) Observe the following statements :

a) Sagar cyclonic storm originated in May 2019 in Arabian Sea.

b) Sagar cyclonic storm disrupted properties on South Konkan coast.

Answer options:

1) Statement (a) is correct 2) Statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (b) are incorrect

10) ^maVmVrb ZXrOmoS> àH$ën A§VJ©V H°$ßQ>Z XñVya ¶m§Zr hr ¶moOZm gwM{dbr …
1) J§Jm-H$mdoar àH$ën 2) ‘mbm H$mbdm àH$ën
3) ~«÷nwÌm - J§Jm àH$ën 4) Ho$Z - ~oVdm àH$ën

10) Captain Dastur proposed this project under River Linking Project in India :

1) Ganga - Kaweri project 2) Mala canal project

3) Brahmaputra - Ganga project 4) Ken - Betwa project

11) ............ hm dm ỳ "^monmi dm¶y XþK©Q>Zog' H$maUr ŷV Pmbm.
1) {‘{Wc Am¶gmoH$m~m}ZoQ> 2) {‘{Wc Am¶gmoZm¶ZmBS>
3) {‘{Wc Am¶gmo³bmoamB©S> 4) {‘{Wc Am¶gmogm¶ZoQ>

11) ............ This gas caused the 'Bhopal gas disaster'.

1) Methyl isocarbonate 2) Methylisocyanide .

3) Methyl isochloride 4) Methyl isocyanate
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12) Imbrb {dYmZo nhm …
a) Cne‘Z åhUOo AmnÎmrÀ¶m doXZm H$‘r H$aÊ¶mMr à{H«$¶m
b) amÁ¶ AmnÎmr ì¶dñWmnZ àm{YH$aUmMo AÜ¶j amÁ¶mMo ‘w»¶ g{Md AgVmV.
c) 1961 ‘Ü¶o nmZeoV YaU ’w$Qy>Z ‘hmnya Ambm hmoVm.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (c) ~amo~a AmhoV 2) {dYmZ (a) Am{U (b) ~amo~a Amho.
3) {dYmZ (b) Am{U (c) ~amo~a AmhoV 4) {dYmZ (a), (b) Am{U (c) ~amo~a Amho.

12) Observe the following statements :

a) The process of making impact less severe is called Mitigation.

b) The Chairman of the State Disaster Management Authority is the Chief Secretary of the State.

c) There was a heavy flood due to burst of Panshet dam in 1961.

Answer Options :

1) Statements (a) and (c) are correct 2) Statements (a) and (b) are correct

3) Statements (b) and (c) are correct 4) Statements (a), (b) and (e) are correct

13) ^maVm‘Ü¶o {H$aUmoËgJm©nmgyZ qH$dm AUyD$Om© àUmbr nmgyZ g§ajU XoÊ¶mMr ImÌr XoUo ho ....... ¶m g§ñWoMo ‘w»¶ H$m‘
Amho.
1) {d{H$aU d g‘ñWm{ZHo$ V§ÌkmZ ‘§S>i (BRIT) 2) ^maVr¶ A§Vami H|$Ð
3) Q>mQ>m ‘yc ŷV g§emoYZ H|$Ð 4) AUy D$Om© {Z¶m‘H$ ‘§S>i (E.B©.Ama.~r.)

13) To ensure the protection from radioactive emission or atomic energy radiation in India is the

main function of

1) Board of Radiation and Isotope Technology 2) Indian Space Centre

3) Tata Institute of Fundamental Research 4) Atomic Energy Regulatory Board (AERB)

14) n¥ÏdrÀ¶m ŷH$dMmV ~Xb KS>{dÊ¶mgmR>r Imbrbn¡H$s H$moUVr A§VJ©V eº$s H$maUr ŷV R>aVo ?
1) dmam 2) ZXr 3) ŷH§$n 4) {h‘ZXr

14) Which of the following endogenic force causes changes in the Earth's crust ?

1) Wind 2) River 3) Earthquake 4) Glaciers

-0-0-0-0-0-0-0-0-0-0-0-
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n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb

(1) BH$mo{gpñQ>‘ - D$Om© {na°{‘S>, AÞ
gmIir Am{U Omio, nmofU MH«o$, ‘mZd d

n¶m©daUnyaH$ {dH$mg

1) n[ag§ñWm, n[apñW{VH$s/ BH$mo{gpñQ>‘, n¶m©daU

1-4 2-2 3-2 4-3 5-3 6-4

7-4 8-4

2) D$Om© {na°{‘S>, AÞ gmIir Am{U Omio

1-2 2-2 3-1

3) nmofU /gm‘J«r MH«$

1-2 2-2 3-3 4-4

4) ‘mZd d n¶m©daUnyaH$ {dH$mg

1-4 2-1

(2) n`m©daUr` Ag§VwbZ, n[afXm, BAm¶E,
dZg§nÎmrMo g§YmaU, g§KQ>Zm d g§ñWm

1) Z¡g{J©H$ gmYZg§nÎmr d {VMo {deofV: dZg§nÎmrMo

g§YmaU

1-2 2-2 3-3 4-4 5-4 6-3

7-4 8-3

2) n`m©daUr` Ag§VwbZ, BAm¶E

1-2 2-2 3-1 4-4 5-4 6-1

7-4 8-4 9-3 10-1 11-3 12-2

13-2 14-4 15-1 16-3 17-3

3) OmJ{VH$ n¶m©daU n[afXm, n¶m©daU{df¶H$ H$m¶Xo

1-1 2-1 3-1

n¶m©daU{df¶H$ H$m¶Xo

1-2 2-3 3-1 4-1 5-1 6-4

7-1 8-4

4) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/

OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

1-1 2-2 3-1 4-1 5-3

(3) O¡d{d{dYVm - ^maVmVrb g§H$ënZm,
àH$ma, dÝ`Ord Am{U dZñnVr

1) O¡d{d{dYVm g§H$ënZm d ^maVmVrb pñWVr

1-1 2-3 3-2 4-4

2) O¡d{d{dYVm - àH$ma

1-3 2-2 3-3

3) dÝ`Ord Am{U dZñnVr

1-1 2-1 3-3 4-3 5-2 6-3

7-1 8-1 9-4 10-2 11-2 12-4

13-4 14-3 15-4 16-4 17-4

4) O¡d{d{dYVm g§dY©Z

1-3 2-3 3-1
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(4) O¡d{d{dYVoÀ¶m g§ajU, A^`maÊ ò Am{U

amḯ>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo

1) O¡d{d{dYVoMo g§ajU d n`m©daU H$m`Xo

1-3 2-3 3-2 4-1

2) A^`maÊ ò Am{U amï´>r` CÚmZo

1-3 2-4 3-1 4-3 5-4 6-4

7-1 8-3 9-3 10-1

2) ì`mK« àH$ën

1-1 2-1

3) dZì¶dñWmnZ

1-2 2-4 3-4 4-1 5-3 6-1

7-3 8-4 9-2 10-2 11-2 12-4

13-4 14-2 15-4

(5) ½bmo~b dm°{‘ªJ - h[aV dm¶y, h[aVJ¥h
n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ŷ{‘H$m

1) hdm‘mZ ~Xb, dmVmdaU, ½bmo~b dm°{‘ªJ - h[aV dm¶y

1-1 2-2 3-2 4-3 5-3 6-3

7-1 8-2 9-2 10-2 11-3 12-3

13-4 14-2 15-3 16-2 17-3 18-3

19-4 20-4 21-1 22-3

2) h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ̂ y{‘H$m

1-1 2-3 3-3 4-4

3) hdm‘mZ ~Xbmg§X^m©V Cnm¶¶moOZm

1-1 2-1 3-4 4-2 5-1 6-1

7-3 8-1 9-4 10-3 11-4 12-2

13-3 14-3 15-3 16-4 17-4

(6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr.
H$Mam ì`dñWmnZ, n¶m©daUr¶ AmnÎmr

1) àXyfU - hdm

1-2 2-3

2) àXyfU - nmUr

1-3 2-3 3-2 4-2 5-4 6-4

7-3 8-3 9-1 10-1

3) àXyfU - ‘mVr

1-2 2-3 3-3 4-2

4) àXyfU - ÜdZr

1-2

5) H$Mam ì`dñWmnZ

1-4 2-3 3-4

6) n¶m©daUr¶ AmnÎmr

1-1 2-1 3-3 4-3 5-2 6-3

7-3 8-2 9-4 10-2 11-4 12-1

13-4 14-3


